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PSYCHOLOGY 
Paper – III 

 

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All  
questions are compulsory. 

 
1. Amit met with an accident and later turned into impulsive, irresponsible and less 

concerned with the consequences of his actions. He must have suffered damage in 
 (1) Parietal lobe (2) Frontal lobe 
 (3) Occipital lobe (4) Temporal lobe 
 

2. Effective teaching may include conceptual scaffolding, which is best described by the 
following statement : 

 (1) introducing practice sessions after every module. 
 (2) gradually fading support as student proficiency increases. 
 (3) punishing student for incorrect answers. 
 (4) encouraging brighter students to help weaker students. 
 
3. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 

your answer using codes given below : 
 Assertion (A) : Individuals high in achievement motivation are more attracted to tasks 

of intermediate difficulty. 
 Reason (R) : Individuals high in achievement motivation are highly motivated to 

avoid failure. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 

4. A social worker, appointed to assist the psychiatrist, used to administer and interpret 
Rorschach test. This is an  

 (1) ethically incorrect practice 
 (2) ethically correct practice 
 (3) ethically correct practice provided the results are used only for diagnostic purpose. 
 (4) ethically correct practice provided the results are kept confidential and are used only 

for diagnostic purpose. 
 

5. Facial feedback hypothesis means 
 (a) Your facial expression affects other’s emotions. 
 (b) Other’s facial expression affects your emotions. 
 (c) Facial expression provides feedback to the brain about emotions. 
 (d) All the three 
 Codes : 
 (1) (a) only (2) (a) and (b) 
 (3) (c) only (4) (d) and (c) 
 

6. The following instrument can not be utilized in the measurement of emotions : 
 (1) Sphygmomano meter (2) Galvanic skin response 
 (3) Digital thermometer (4) Pupillary measurement camera 
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´Ö®ÖÖê×¾Ö–ÖÖ®Ö 
¯ÖÏ¿®Ö¯Ö¡Ö – III 

 

×®Ö¤ì¿Ö : ‡ÃÖ ¯ÖÏ¿®Ö¯Ö¡Ö ´Öë ¯Ö“ÖÆ¢Ö¸ (75) ²ÖÆã-×¾ÖÛ »¯ÖßµÖ ¯ÖÏ¿®Ö Æï … ¯ÖÏŸµÖêÛ  ¯ÖÏ¿®Ö Ûê  ¤Öê (2) †ÓÛ  Æï … ÃÖ³Öß ¯ÖÏ¿®Ö †×®Ö¾ÖÖµÖÔ Æï … 
 

1. †×´ÖŸÖ ¤ã‘ÖÔ™®ÖÖÝÖÏÃŸÖ ÆÖê ÝÖµÖÖ †Öî¸ ²ÖÖ¤ ´Öë ‡ÃÖÛê  ¯Ö×¸ÞÖÖ´ÖÃ¾Öº ¯Ö †¯Ö®Öê Û ÖµÖÖí Ûê  ¯ÖÏ×ŸÖ †Ö¾ÖêÝÖß, ÝÖî¸-×�Ö´´Öê¤Ö¸ †Öî¸ ˆ®ÖÛê  
¯ÖÏ×ŸÖ Û ´Ö Ø“Ö×ŸÖŸÖ ¸Æ®Öê »ÖÝÖÖ … ˆÃÖÛ Ö Û Öî®Ö ÃÖÖ ÜÖÓ› õÖ×ŸÖÝÖÏÃŸÖ Æã†Ö ÆÖêÝÖÖ ? 

 (1) ¯ÖÖ¿¾ÖÔÛ Ö¯ÖÖ×»ÖÛ  ÜÖÓ›  (2) †ÝÖÏ ÜÖÓ› 
 (3) ¯Ö¿“ÖÛ ¯ÖÖ»Ö ÜÖÓ›  (4) ¿ÖÓÜÖ¯ÖÖ×»Ö ÜÖÓ› 
 

2. ¯ÖÏ³ÖÖ¾Öß ×¿ÖõÖÞÖ ´Öë “ÃÖÓÛ »¯Ö®ÖÖŸ´ÖÛ  ÃÛê ± ÖêØ»›ÝÖ”  ¿ÖÖ×´Ö»Ö Æî ×�ÖÃÖÛ ß ÃÖ¾ÖÖì¢Ö´Ö ¾µÖÖÜµÖÖ ×®Ö´®Ö×»Ö×ÜÖŸÖ Û £Ö®Ö ÃÖê ÆÖêŸÖß Æî  
 (1) ¯ÖÏŸµÖêÛ  ´ÖÖ›ËµÖæ»Ö Ûê  ¯Ö¿“ÖÖŸÖË ¯ÖÏî×Œ™ÃÖ ÃÖê¿Ö®Ö ¿Öãº  Û ¸®ÖÖ  
 (2) �ÖîÃÖê-�ÖîÃÖê ×¾ÖªÖ£Öá Û ß ¤õÖŸÖÖ ²ÖœÌŸÖß �ÖÖŸÖß Æî ¾ÖîÃÖê ÃÖÆÖµÖŸÖÖ ´Öë Û ´Öß Û ¸ŸÖê �ÖÖ®ÖÖ …  
 (3) ÝÖ»ÖŸÖ ˆ¢Ö¸ Ûê  ×»Ö‹ ×¾ÖªÖ£Öá Û Öê ¤×Þ›ŸÖ Û ¸®ÖÖ …  
 (4) ´Öê¬ÖÖ¾Öß ×¾ÖªÖÙ£ÖµÖÖë Û Öê Û ´Ö�ÖÖê¸ ×¾ÖªÖÙ£ÖµÖÖë Û ß ÃÖÆÖµÖŸÖÖ Ûê  ×»Ö‹ ¯ÖÏÖêŸÃÖÖ×ÆŸÖ Û ¸®ÖÖ …  
 

3. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî¸ ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ 
†¯Ö®ÖÖ ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) :  »Ö×²¬Ö †×³Ö¯ÖÏê¸ÞÖÖ ´Öë †ÝÖÏÞÖß ¾µÖ×ŒŸÖ ´Ö¬µÖ¾ÖŸÖá Û ×š®Ö Û ÖµÖÖí Ûê  ¯ÖÏ×ŸÖ †×¬ÖÛ  †ÖÛ ÙÂÖŸÖ ¸ÆŸÖê Æï …  
 ŸÖÛÔ  (R) : »Ö×²¬Ö †×³Ö¯ÖÏê¸ÞÖÖ ´Öë †ÝÖÏÞÖß ¾µÖ×ŒŸÖ †ÃÖ± »ÖŸÖÖ ÃÖê ²Ö“Ö®Öê Ûê  ¯ÖÏ×ŸÖ †ŸµÖ×¬ÖÛ  †×³Ö¯ÖÏê×¸ŸÖ ¸ÆŸÖê Æï …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æî, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

4. ‹Û  ÃÖÖ´ÖÖ×�ÖÛ  Û ÖµÖÔÛ ¢ÖÖÔ ×�ÖÃÖê ´Ö®ÖÖê×“Ö×Û ŸÃÖÛ  Û ß ÃÖÆÖµÖŸÖÖ Ûê  ×»Ö‹ ×®ÖµÖãŒŸÖ ×Û µÖÖ ÝÖµÖÖ £ÖÖ, ¯Ö¸ ¾ÖÆ ¸Öê¿ÖÖÛÔ  ¯Ö¸ßõÖÞÖ 
Û ß ¾µÖ¾ÖÃ£ÖÖ ¤êÜÖŸÖÖ Æî †Öî¸ ˆ®ÖÛ ß ¾µÖÖÜµÖÖ Û ¸ŸÖÖ Æî … µÖÆ Æî  

 (1) ®Öî×ŸÖÛ  º ¯Ö ÃÖê ÝÖ»ÖŸÖ ¯ÖÏ£ÖÖ  
 (2) ®Öî×ŸÖÛ  º ¯Ö ÃÖê ÃÖÆß ¯ÖÏ£ÖÖ 
 (3) ®Öî×ŸÖÛ  º ¯Ö ÃÖê ÃÖÆß ¯ÖÏ£ÖÖ ²Ö¿ÖŸÖì ×Û  ˆÃÖÛ Ö ˆ¯ÖµÖÖêÝÖ Ûê ¾Ö»Ö ®Öî¤Ö×®ÖÛ  ¯ÖÏµÖÖê�Ö®Ö ÃÖê ×Û µÖÖ �ÖÖ‹ … 
 (4) ®Öî×ŸÖÛ  º ¯Ö ÃÖê ÃÖÆß ¯ÖÏ£ÖÖ ²Ö¿ÖŸÖì ×Û  ¯Ö×¸ÞÖÖ´ÖÖë Û Öê ÝÖÖê̄ Ö®ÖßµÖ ¸ÜÖÖ �ÖÖ‹ †Öî¸ ˆ®ÖÛ Ö ˆ¯ÖµÖÖêÝÖ Ûê ¾Ö»Ö ®Öî¤Ö×®ÖÛ  

¯ÖÏµÖÖê�Ö®Ö ÃÖê ×Û µÖÖ �ÖÖ‹ …  
 

5. †Ö®Ö®Ö ¯Öã®Ö³ÖÔ¸ÞÖ ¯Ö×¸Û »¯Ö®ÖÖ Û Ö †Ö¿ÖµÖ Æî  
 (a) †Ö¯ÖÛ ß †Ö®Ö®Ö †×³Ö¾µÖ×ŒŸÖ †®µÖ ¾µÖ×ŒŸÖ Ûê  ÃÖÓ¾ÖêÝÖÖë Û Öê ¯ÖÏ³ÖÖ×¾ÖŸÖ Û ¸ŸÖß Æî …  
 (b) †®µÖ ¾µÖ×ŒŸÖµÖÖë Û ß †Ö®Ö®Ö †×³Ö¾µÖ×ŒŸÖ †Ö¯ÖÛê  ÃÖÓ¾ÖêÝÖÖë Û Öê ¯ÖÏ³ÖÖ×¾ÖŸÖ Û ¸ŸÖß Æî …  
 (c) †Ö®Ö®Ö †×³Ö¾µÖ×ŒŸÖ ´Ö×ÃŸÖÂÛ  Û Öê ÃÖÓ¾ÖêÝÖÖë Ûê  ²ÖÖ¸ê ´Öë ¯Öã®Ö³ÖÔ¸ÞÖ �ÖÖ®ÖÛ Ö¸ß ¤êŸÖß Æî …  
 (d) ˆ¯Ö¸ÖêŒŸÖ ÃÖ³Öß  
 Ûæ ™ : 
 (1) Ûê ¾Ö»Ö (a) (2) (a) †Öî̧  (b) 
 (3) Ûê ¾Ö»Ö (c) (4) (d) †Öî̧  (c) 
 
6. ÃÖÓ¾ÖêÝÖ Ûê  ´ÖÖ¯Ö®Ö ´Öë ×®Ö´®Ö ´Öë ÃÖê ×Û ÃÖÛ Ö ˆ¯ÖµÖÖêÝÖ ®ÖÆà ×Û µÖÖ �ÖÖ ÃÖÛ ŸÖÖ Æî ? 
 (1) ×Ã± ÝÖ´ÖÖê´Ö®ÖÖê´Öß™¸  (2) ÝÖ»Ö¾Öî×®ÖÛ  Ÿ¾Ö“ÖÖ ¯ÖÏŸµÖã¢Ö¸  
 (3) ÃÖÖÓ×ÜµÖÛ  ŸÖÖ¯Ö ´ÖÖ¯ÖÛ   (4) ¯ÖãŸÖ»Öß ´ÖÖ¯Ö®Ö Ûî ´Ö¸Ö  
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7. Match the items of List – I with List – II : 
List – I 

(Disorder) 
List – II 

(Typical Symptoms)
a. PTSD i. Pill rolling movement 
b. Major depressive disorder ii. Flashbacks 
c. Parkinson’s Disease iii. Echolalia 
d. Catatonic Schizophrenia iv. Appetite loss 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) iv iii ii i 
 (3) iii i iv ii 
 (4) ii iv i iii 
 

8. Arrange in sequence the stage of personality development according to Rollo May 
 (1) Innocence → ordinary consciousness of self → rebellion → creative consciousness 

of self 
 (2) Innocence → rebellion → ordinary consciousness of self → creative consciousness 

of self 
 (3) Ordinary consciousness of self → innocence → rebellion → creative consciousness 

of self 
 (4) Rebellion → innocence → ordinary consciousness of self → creative consciousness 

of self 
 
9. The rapid change in performance as the size of reinforcement in varied is called  
 (1) Crespi effect (2) Disequilibrium hypothesis 
 (3) Premack principal (4) Programmed learning 
 
10. Creativity has been conceptualized in terms of following : 
 (a) Creativity as a product 
 (b) Creativity as a process 
 (c) Creativity as a potential 
 (d) Creativity as perseverance 
 Codes : 
 (1) (a) and (b) only (2) (b) and (c) only 
 (3) (a), (b) and (c) only (4) (a), (b) and (d) only 
 
11. In Solomon Asch’s study on conformity, subjects conformed to the Group approximately 

what percent of time  
 (1) 25% (2) 35% 
 (3) 45% (4) over 50% 
 
12. Perceived fairness of the amount and rewards among individuals refers to  while 

perceived fairness of the ways used for rewards and pays refers to _________. 
 (1) Organizational justice, Distributive justice 
 (2) Equity, Organizational justice 
 (3) Distributive justice; Procedural justice 
 (4) Procedural justice; Distributive justice 
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7. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 
ÃÖæ“Öß – I 

(×¾ÖÛ Ö¸) 

ÃÖæ“Öß – II 

(†Ö´Ö »ÖõÖÞÖ) 
a. ¯Öß.™ß.‹ÃÖ.›ß.  i. ×¯Ö»Ö ¸ÖêØ»ÖÝÖ ´Öæ´Öë™ (Pill rolling movement) 

b. ‘Ö®ÖÖ †¾ÖÃÖÖ¤ ×¾ÖÛ Ö¸  ii. ¯Öæ¾ÖÔ¥¿µÖ  
c. ¯ÖÖÙÛ ÃÖ®ÃÖ ¸ÖêÝÖ iii. ¯ÖÏ×ŸÖ�Ö»¯ÖŸÖÖ  
d. ŸÖÖ®Ö¯ÖÏ×ŸÖ×Â™´´Öß ´Ö®ÖÖê×¾Ö¤»ÖŸÖÖ  iv. ³ÖæÜÖ ®Ö »ÖÝÖ®ÖÖ  

 Ûæ ™ : 

  a b c d   
 (1) i ii iii iv 
 (2) iv iii ii i 
 (3) iii i iv ii 
 (4) ii iv i iii 
 

8. ¸Öê»ÖÖê ´Öê Ûê  †®ÖãÃÖÖ¸ ¾µÖ×ŒŸÖ¢¾Ö ×¾ÖÛ ÖÃÖ Ûê  “Ö¸ÞÖÖë Û Öê ÛÎ ´Ö ´Öë ¾µÖ¾Ö×Ã£ÖŸÖ Û ¸ë : 

 (1) ´ÖÖÃÖæ×´ÖµÖŸÖ → Ã¾ÖµÖÓ Û ß ÃÖÖ´ÖÖ®µÖ “ÖêŸÖ®ÖÖ → ×¾Ö¦ÖêÆß → Ã¾ÖµÖÓ Û ß ¸“Ö®ÖÖŸ´ÖÛ  “ÖêŸÖ®ÖÖ 

 (2) ´ÖÖÃÖæ×´ÖµÖŸÖ → ×¾Ö¦ÖêÆß → Ã¾ÖµÖÓ Û ß ÃÖÖ´ÖÖ®µÖ “ÖêŸÖ®ÖÖ → Ã¾ÖµÖÓ Û ß ¸“Ö®ÖÖŸ´ÖÛ  “ÖêŸÖ®ÖÖ 

 (3) Ã¾ÖµÖÓ Û ß ÃÖÖ´ÖÖ®µÖ “ÖêŸÖ®ÖÖ → ´ÖÖÃÖæ×´ÖµÖŸÖ → ×¾Ö¦ÖêÆß → Ã¾ÖµÖÓ Û ß ¸“Ö®ÖÖŸ´ÖÛ  “ÖêŸÖ®ÖÖ 

 (4) ×¾Ö¦ÖêÆß → ´ÖÖÃÖæ×´ÖµÖŸÖ → Ã¾ÖµÖÓ Û ß ÃÖÖ´ÖÖ®µÖ “ÖêŸÖ®ÖÖ → Ã¾ÖµÖÓ Û ß ¸“Ö®ÖÖŸ´ÖÛ  “ÖêŸÖ®ÖÖ 
 
9. ¯Öã®Ö²ÖÔ»Ö®Ö Ûê  †ÖÛ Ö¸ ´Öë ¯Ö×¸¾ÖŸÖÔ®Ö Ûê  Û Ö¸ÞÖ ×®ÖÂ¯ÖÖ¤®Ö ´Öë ŸÖß¾ÖÎ ¯Ö×¸¾ÖŸÖÔ®Ö Û Öê Û ÆÖ �ÖÖŸÖÖ Æî  
 (1) ÛÎê Ã¯Öß ¯ÖÏ³ÖÖ¾Ö  (2) †ÃÖÓŸÖã»Ö®Ö ¯Ö×¸Û »¯Ö®ÖÖ  
 (3) ¯ÖÏß´ÖîÛ  ×ÃÖ¨ÖÓŸÖ  (4) Û ÖµÖÔÛÎ ×´ÖŸÖ †×¬ÖÝÖ´Ö (¯ÖÏÖêÝÖÏê´› »ÖÚ®ÖÝÖ)  
 
10. ÃÖé�Ö®ÖÖŸ´ÖÛ ŸÖÖ Û Öê ×®Ö´®Ö×»Ö×ÜÖŸÖ Ûê  ÃÖÓ¤³ÖÔ ´Öë ¯Ö×¸³ÖÖ×ÂÖŸÖ ×Û µÖÖ ÝÖµÖÖ Æî : 
 (a) ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ ‹Û  ˆŸ¯ÖÖ¤ Æî …  (b) ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ ‹Û  ¯ÖÏ×ÛÎ µÖÖ Æî …  
 (c) ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ ‹Û  õÖ´ÖŸÖÖ Æî …  (d) ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ ‹Û  †¬µÖ¾ÖÃÖÖµÖ Æî …  
 Ûæ ™ : 
 (1) Ûê ¾Ö»Ö (a) †Öî¸ (b) (2) Ûê ¾Ö»Ö (b) †Öî¸ (c)  

 (3) Ûê ¾Ö»Ö (a), (b) †Öî̧  (c) (4) Ûê ¾Ö»Ö (a), (b) †Öî̧  (d)  

 
11. ÃÖÖê»ÖÖê´Ö ‹êÛ  Ûê  †®Öãº ¯ÖŸÖÖ Ûê  †¬µÖµÖ®Ö ´Öë ÃÖ´ÖµÖ Ûê  ×Û ŸÖ®Öê ¯ÖÏ×ŸÖ¿ÖŸÖ ×¾ÖÂÖµÖÖë Û ß ÃÖ´ÖæÆ Ûê  ¯ÖÏ×ŸÖ †®Öãº ¯ÖŸÖÖ ¯ÖÖ‡Ô �ÖÖŸÖß Æî ? 
 (1) 25% (2) 35% 
 (3) 45% (4) 50% ÃÖê †×¬ÖÛ   
 
12. ¾µÖ×ŒŸÖµÖÖë Ûê  ²Öß“Ö ´ÖÖ¡ÖÖ †Öî¸ ¯Öã¸ÃÛ Ö¸ Û ß ´ÖÆÃÖæÃÖ Û ß ÝÖ‡Ô ×®ÖÂ¯ÖõÖŸÖÖ Û Öê _______ Û ÆÖ �ÖÖŸÖÖ Æî, �Ö²Ö×Û  ¯Öã¸ÃÛ Ö¸ 

†Öî¸ ¾ÖêŸÖ®Ö Ûê  ×»Ö‹ ˆ¯ÖµÖÖêÝÖ ´Öë »ÖÖ‡Ô ÝÖ‡Ô ×¾Ö×¬Ö Û ß ´ÖÆÃÖæÃÖ Û ß ÝÖ‡Ô ×®ÖÂ¯ÖõÖŸÖÖ Û Öê _______ Û ÆÖ �ÖÖŸÖÖ Æî …  
 (1) ÃÖÓÝÖš®ÖÖŸ´ÖÛ  ®µÖÖµÖ; †®Öã¯ÖÖŸÖß ®µÖÖµÖ  (2) ÃÖÖ´µÖŸÖÖ, ÃÖÓÝÖš®ÖÖŸ´ÖÛ  ®µÖÖµÖ  
 (3) †®Öã¯ÖÖŸÖß ®µÖÖµÖ, ¯ÖÏ×ÛÎ µÖÖŸ´ÖÛ  ®µÖÖµÖ  (4) ¯ÖÏ×ÛÎ µÖÖŸ´ÖÛ  ®µÖÖµÖ, †®Öã¯ÖÖŸÖß ®µÖÖµÖ  
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13. Match List – I with List – II and select the correct answer by choosing from the codes 
given below : 

List – I 
(Verbal Responses) 

List – II 
(Explanations)

a. Mand i. Provides grammatical framework for verbal behaviour
b. Tact ii. Repeating someone else’s utterances 
c. Echoic behaviour iii. Verbal behaviour of naming things 
d. Autoclitic behaviour iv. Verbal command that is reinforced when the listener 

carries out the command 
 Codes : 
  a b c d   
 (1) iv iii ii i 
 (2) iii iv i ii 
 (3) iii iv ii i 
 (4) iv  iii i ii 
 

14. Match List – I with List – II and select the correct answer by choosing from the codes 
given below : 

List – I 
(Scale) 

List – II 
(Test)

a. Structural scales i. Rorschach Inkblot Test 
b. Lambda ii. Zukerman-Kuhlman Personality Questionnaire 
c. Abasement iii. California Psychological Inventory 
d. Impulsive Sensation Seeking iv. Thematic Apperception Test 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) iii i iv ii 
 (3) ii iii i iv 
 (4) iv  i ii iii 
 

15. The concept of  is vital in the understanding of fractional antedating goal response 
 (1) Drive stimulus reduction (2) Reactive Inhibition 
 (3) Secondary Reinforcement (4) Conditioned Inhibition 
 

16. Match List – I with List – II and select the correct answer by choosing from the codes 
given below : 

    List – I 
       (Term in factor analysis)

List – II 
(Example/Brief explanation) 

a. Factor extraction method i. Correlations among varimax rotated factors 
b. Cattell’s scree ii. Promax 
c. Factor rotation method iii. Principal axes 
d. Inter-factor correlation matrix iv. Correlation among oblique-rotated factors 
 v. Method to decide number of factors for rotation 

 Codes : 
  a b c d   
 (1) iii v ii iv 
 (2) iii v ii i 
 (3) v iii ii iv 
 (4) ii  iii v iv 
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13. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 
ÃÖæ“Öß – I 

(´ÖÖî×ÜÖÛ  ¯ÖÏ×ŸÖ×ÛÎ µÖÖ) 
ÃÖæ“Öß – II 

(Ã¯ÖÂ™ßÛ ¸ÞÖ) 
a. †£ÖÔ®ÖÖ i. ´ÖÖî×ÜÖÛ  ¾µÖ¾ÖÆÖ¸ Ûê  ×»Ö‹ ¾µÖÖÛ ¸×ÞÖÛ  œÖÑ“ÖÖ ˆ¯Ö»Ö²¬Ö Û ¸ÖŸÖÖ Æî …  
b. ™êŒ™ ii. ×Û ÃÖß †®µÖ Ûê  ²ÖÖê»Ö Û Öê ¤ãÆ¸Ö®ÖÖ  
c. ¬¾Ö®µÖÖŸ´ÖÛ  ¾µÖ¾ÖÆÖ¸  iii. ¾ÖÃŸÖã†Öë Û Ö ®ÖÖ´Ö »Öê®Öê Û Ö ´ÖÖî×ÜÖÛ  ¾µÖ¾ÖÆÖ¸  
d. †Ö™Öê×Œ»Ö×™Û  ¾µÖ¾ÖÆÖ¸  iv. ´ÖÖî×ÜÖÛ  †Ö¤ê¿Ö ×�ÖÃÖÛ Ö ÁÖÖêŸÖÖ «Ö¸Ö †Ö¤ê¿Ö Û Ö ¯ÖÖ»Ö®Ö ×Û ‹ �ÖÖ®Öê ¯Ö¸ 

¯Öã®Ö²ÖÔ»Ö®Ö ÆÖêŸÖÖ Æî …  
 Ûæ ™ : 
  a b c d   
 (1) iv iii ii i 
 (2) iii iv i ii 
 (3) iii iv ii i 
 (4) iv  iii i ii 
 

14. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 
ÃÖæ“Öß – I 
(´ÖÖ¯Ö) 

ÃÖæ“Öß – II 
(¯Ö¸ßõÖÞÖ) 

a. ÃÖÓ¸“Ö®ÖÖŸ´ÖÛ  ´ÖÖ¯Ö  i. ¸Öê¿ÖÖÃÖÔ ‡ÓÛ ²»ÖÖê™ ¯Ö¸ßõÖÞÖ   
b. »Öî´²Ö›Ö  ii. �ÖãÛ ¸´Öî®Ö-Ûã Æ»Ö´Öî®Ö ¾µÖ×ŒŸÖŸ¾Ö ¯ÖÏ¿®ÖÖ¾Ö»Öß  
c. †¬ÖÖêÝÖ×ŸÖ iii. Û Öò»Öß± ÖêÙ®ÖµÖÖ ÃÖÖòµÖÛ Öê»ÖÖê×�ÖÛ »Ö ‡®Ö¾Öê®™¸ß  
d. †Ö¾ÖêÝÖß ÃÖÓ¾Öê¤®Ö Û ß ´ÖÖÑÝÖ  iv. £Öß´Öê×™Û  †¯ÖßµÖ¸ÃÖê¯¿Ö®Ö ¯Ö¸ßõÖÞÖ   

 Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) iii i iv ii 
 (3) ii iii i iv 
 (4) iv  i ii iii 
 

15. ±Ïê Œ¿Ö®Ö»Ö ‹®™ß›êØ™ÝÖ ÝÖÖê»Ö ×¸Ã¯ÖÖÓÃÖ Û Öê ÃÖ´Ö—Ö®Öê Ûê  ×»Ö‹ _______ Û ß ÃÖÓÛ »¯Ö®ÖÖ ´ÖÆ¢¾Ö¯ÖæÞÖÔ Æî  
 (1) ›ÒÖ‡¾Ö ×Ã™´Öã»ÖÃÖ ×¸›Œ¿Ö®Ö  (2) ×¸‹×Œ™¾Ö ‡®Ö×Æ×²Ö¿Ö®Ö  
 (3) ÝÖÖîÞÖ ¯Öã®Ö²ÖÔ»Ö®Ö (4) ÛÓ ›ß¿Ö®› ‡®Ö×Æ×²Ö¿Ö®Ö  
 

16. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 
ÃÖæ“Öß – I 

(Û Ö¸Û  ×¾Ö¿»ÖêÂÖÞÖ ´Öë ¿Ö²¤) 
ÃÖæ“Öß – II 

(ˆ¤ÖÆ¸ÞÖ/ÃÖÓ×õÖ¯ŸÖ Ã¯ÖÂ™ßÛ ¸ÞÖ) 
a. Û Ö¸Û  ×®ÖÂÛ ÂÖÔÞÖ ×¾Ö×¬Ö  i. ¾Öê×¸´ÖêŒÃÖ ‘ÖæÙÞÖŸÖ Û Ö¸Û Öë Ûê  ²Öß“Ö ÃÖÆÃÖÓ²ÖÓ¬Ö   
b. Ûî ™ê»Ö Û ß “ÃÛÎ ß” ii. ¯ÖÏÖê´ÖîŒÃÖ   
c. Û Ö¸Û  ‘ÖæÞÖÔ®Ö ×¾Ö×¬Ö  iii. Ø¯ÖÏ×ÃÖ¯Ö»Ö ‹êŒÃÖêÃÖ   
d. †®ŸÖ¸-Û Ö¸Û  ÃÖÆÃÖÓ²ÖÓ¬Ö ŸÖÖ×»ÖÛ Ö  iv. ×ŸÖµÖÔÛ  ‘ÖæÙÞÖŸÖ Û Ö¸Û Öë Ûê  ²Öß“Ö ÃÖÆÃÖÓ²ÖÓ¬Ö   
 v. ‘ÖæÞÖÔ®Ö ÃÖê Û Ö¸Û Öë Û ß ÃÖÓÜµÖÖ ×®Ö¬ÖÖÔ×¸ŸÖ Û ¸®Öê Û ß ×¾Ö×¬Ö  

  Ûæ ™ : 
  a b c d   
 (1) iii v ii iv 
 (2) iii v ii i 
 (3) v iii ii iv 
 (4) ii  iii v iv 
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17. Which of the following identity status describes the individual who has been exploring but 
not yet committed to self chosen values and goals ? 

 (1) Identity achievement  (2) Identity foreclosure 
 (3) Identity diffusion (4) Identity moratorium 
 
18. Scientific study of Creativity is considered to be started by 
 (1) Galton (2) Guilford 
 (3) Torrance (4) Mednick 
 
19. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
    List – I 

       (Concepts) 
List – II 

(Explanation)
a. Metacomponents i. Determining which elements in a set of 

information are relevant for one’s purpose and 
which are not. 

b. Selective Encoding ii. Marshalling emotions in the service of a goal 
c. Motivating Oneself iii. Higher-order mental processes being used to 

guide problem solving efforts. 
d. Practical Intelligence iv. Using mental components to help one to 

adapt, shape, or select an environment that is 
appropriate for oneself. 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) iii i ii iv 
 (3) ii iii iv i 
 (4) iv  iii i ii 
 
20. Culture exerts strong effect on memory through the operation of cultural schema. One’s 

memory is influenced by learning in 
 (1) Own culture effect (2) Culture effect due to enculturation 
 (3) Acculturation effect (4) Socialization effect 
 
21. Evolutionary Social Psychology Research seeks to investigate : 
 (1) Changes in human behaviour 
 (2) Seeks to investigate the potential role of genetic factors on social behaviour 
 (3) Interrelationships between people of two groups of different social environment 
 (4) Focuses on individual’s behaviour. 
 
22. Which one of the following is the right explanation of flash bulb memory ? 
 (1) New, important, helpful social events 
 (2) Unspecific, important, common events 
 (3) Specific, surprising, unimportant events 
 (4) Unspecific, important, common events 
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17. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖß ÃÖÖº ¯µÖŸÖÖ ×Ã£Ö×ŸÖ ˆÃÖ ¾µÖ×ŒŸÖ Û Öê ¾ÖÙÞÖŸÖ Û ¸ŸÖß Æî ×�ÖÃÖ®Öê ¯ÖŸÖÖ ŸÖÖê »ÖÝÖÖµÖÖ Æî ¯Ö¸ÓŸÖã †³Öß 
ŸÖÛ  Ã¾ÖµÖÓ «Ö¸Ö “Öã®Öê Æã‹ ´Öæ»µÖÖë †Öî¸ »ÖõµÖÖë Ûê  ¯ÖÏ×ŸÖ Ûé ŸÖÃÖÓÛ »¯Ö ®ÖÆà Æî …  

 (1) ¯ÖÆ“ÖÖ®Ö ˆ¯Ö»Ö×²¬Ö (2) ¯ÖÆ“ÖÖ®Ö ´ÖÖê“Ö®Ö×®ÖÂÖê¬Ö 
 (3) ¯ÖÆ“ÖÖ®Ö ¯ÖÏÃÖ¸ÞÖ  (4) ¯ÖÆ“ÖÖ®Ö †×¬ÖÃ£ÖÝÖ®Ö 
 
18. ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ Ûê  ¾Öî–ÖÖ×®ÖÛ  †¬µÖµÖ®Ö Û ß ¿Öãº †ÖŸÖ ×Û ÃÖÛê  «Ö¸Ö ÃÖ´Ö—Öß �ÖÖŸÖß Æî ? 
 (1) ÝÖÖ»™®Ö (2) ×ÝÖ»Ö± Öê›Ô 
 (3) ™Öê¸ÖˆÃÖ (4) ´Öê›Ë×®ÖÛ   
 
19. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I 
(†¾Ö¬ÖÖ¸ÞÖÖ) 

ÃÖæ“Öß – II 
(¾µÖÖÜµÖÖ) 

a. †×¬Ö†¾ÖµÖ¾Ö i. µÖÆ ×®Ö¬ÖÖÔ×¸ŸÖ Û ¸®ÖÖ ×Û  ÃÖæ“Ö®ÖÖ Û Ö Û Öî®Ö ÃÖÖ ÃÖ´Öã““ÖµÖ ×Û ÃÖß 
Ûê  ¯ÖÏµÖÖê�Ö®Ö Ûê  ×»ÖµÖê ÃÖÓÝÖŸÖ Æî †Öî¸ Û Öî®Ö ÃÖÖ ®ÖÆà …   

b. ¾ÖÞÖÔ®ÖÖŸ´ÖÛ  
Ûæ ™»ÖêÜÖ®Ö  

ii. »ÖõµÖ ¯ÖÏÖ×¯ŸÖ Ûê  ¯ÖÏµÖÖÃÖ ´Öë ÃÖÓ¾ÖêÝÖÖë Û Öê ¾µÖ¾Ö×Ã£ÖŸÖ Û ¸®ÖÖ …   

c. Ã¾ÖµÖÓ Û Öê †×³Ö¯ÖÏê×¸ŸÖ 
Û ¸®ÖÖ  

iii. ˆ““Ö ÃŸÖ¸ßµÖ ´ÖÖ®Ö×ÃÖÛ  ¯ÖÏ×ÛÎ µÖÖ‹Ñ �ÖÖê ÃÖ´ÖÃµÖÖ ÃÖ´ÖÖ¬ÖÖ®Ö 
¯ÖÏµÖÖÃÖÖë Û Öê ×®Ö¤ì×¿ÖŸÖ Û ¸ŸÖß Æî …   

d. ¾µÖÖ¾ÖÆÖ×¸Û  ²Öã×¨ iv. Ã¾ÖµÖÓ Ûê  ×»ÖµÖê ˆ¯ÖµÖãŒŸÖ ×Û ÃÖß ¾ÖÖŸÖÖ¾Ö¸ÞÖ Ûê  †®ÖãÛæ »Ö®Ö, 
†ÖÛ Ö¸ßÛ ¸ÞÖ †£Ö¾ÖÖ ˆÃÖÛ Ö “ÖµÖ®Ö Û ¸®Öê ´Öë ÃÖÆÖµÖŸÖÖ ¯ÖÏÖ¯ŸÖ 
Û ¸®Öê ÆêŸÖã ´Ö®ÖÖê †¾ÖµÖ¾ÖÖë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸®ÖÖ …   

  Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) iii i ii iv 
 (3) ii iii iv i 
 (4) iv  iii i ii 
 
20. ÃÖÖÓÃÛé ×ŸÖÛ  ÃÛ ß´ÖÖ Ûê  ¯ÖÏ“ÖÖ»Ö®Ö Ûê  ´ÖÖ¬µÖ´Ö ÃÖê ÃÖÓÃÛé ×ŸÖ Ã´Öé×ŸÖ ¯Ö¸ ÝÖÆ¸Ö ¯ÖÏ³ÖÖ¾Ö ›Ö»ÖŸÖß Æî … ×®Ö´®Ö ´Öë ÃÖê ×Û ÃÖ´Öë ¾µÖ×ŒŸÖ 

Û ß Ã´Öé×ŸÖ †×¬ÖÝÖ´Ö «Ö¸Ö ¯ÖÏ³ÖÖ×¾ÖŸÖ ÆÖêŸÖß Æî ?  
 (1) Ã¾ÖµÖÓ Û ß ÃÖÓÃÛé ×ŸÖ Ûê  ¯ÖÏ³ÖÖ¾Ö ÃÖê  (2) ÃÖÖÓÃÛé ×ŸÖÛ ¸ÞÖ Ûê  Û Ö¸ÞÖ ÃÖÖÓÃÛé ×ŸÖÛ  ¯ÖÏ³ÖÖ¾Ö ÃÖê  
 (3) ¯Ö¸ÃÖÓÃÛé ×ŸÖÝÖÏÆÞÖ ¯ÖÏ³ÖÖ¾Ö  (4) ÃÖÖ´ÖÖ×�ÖÛ ßÛ ¸ÞÖ ¯ÖÏ³ÖÖ¾Ö  
 
21. ×¾ÖÛ ÖÃÖ¾ÖÖ¤ß ÃÖÖ´ÖÖ×�ÖÛ  ´Ö®ÖÖê×¾Ö–ÖÖ®Ö †®ÖãÃÖÓ¬ÖÖ®Ö ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖÛ Ö †¬µÖµÖ®Ö ×Û µÖÖ �ÖÖŸÖÖ Æî ? 
 (1) ´ÖÖ®Ö¾Ö ¾µÖ¾ÖÆÖ¸ ´Öë ¯Ö×¸¾ÖŸÖÔ®Ö  
 (2) ÃÖÖ´ÖÖ×�ÖÛ  ¾µÖ¾ÖÆÖ¸ ¯Ö¸ †Ö®Öã¾ÖÖÓ×¿ÖÛ  Û Ö¸Û Öë Û ß ÃÖÓ³ÖÖ×¾ÖŸÖ ³Öæ×´ÖÛ Ö Û ß �ÖÖÑ“Ö Û ¸ŸÖß Æî …  
 (3) ×¾Ö×³Ö®®Ö ÃÖÖ´ÖÖ×�ÖÛ  ¾ÖÖŸÖÖ¾Ö¸ÞÖ Ûê  ¤Öê ÃÖ´ÖæÆÖë Ûê  »ÖÖêÝÖÖë Ûê  ²Öß“Ö †®ŸÖ: ÃÖÓ²ÖÓ¬Ö  
 (4) ¾µÖ×ŒŸÖ Ûê  ¾µÖ¾ÖÆÖ¸ ¯Ö¸ ¬µÖÖ®Ö Ûë ×¦ŸÖ Û ¸ŸÖÖ Æî …  
 
22. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ °»Öî¿Ö ²Ö»²Ö Ã´Öé×ŸÖ Û ß ÃÖÆß ¾µÖÖÜµÖÖ Û ¸ŸÖÖ Æî ? 
 (1) ®ÖµÖÖ, ´ÖÆ¢¾Ö¯ÖæÞÖÔ, ÃÖÆÖµÖÛ  ÃÖÖ´ÖÖ×�ÖÛ  ‘Ö™®ÖÖ  
 (2) †×¾Ö×¿ÖÂ™, ´ÖÆ¢¾Ö¯ÖæÞÖÔ, ÃÖÖ´ÖÖ®µÖ ‘Ö™®ÖÖ  
 (3) ×¾Ö×¿ÖÂ™, †Ö¿“ÖµÖÔ�Ö®ÖÛ , †´ÖÆ¢¾Ö¯ÖæÞÖÔ ‘Ö™®ÖÖ  
 (4) †×¾Ö×¿ÖÂ™, ´ÖÆ¢¾Ö¯ÖæÞÖÔ, ÃÖÖ´ÖÖ®µÖ ‘Ö™®ÖÖ  
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23. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using codes given below : 

 Assertion (A) : Heteronomous children focus on the objective consequences rather 
than intentions. 

 Reason (R) : Moral development in a heteronomous child is limited. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 
24. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
    List – I 

       (Psychologist) 
List – II 

(Phenomenon)
a. Ebbinghaus i. Some tasks to complete 
b. Bartlett ii. Short Stories Use 
c. Murray iii. Use of Meaningful Words 
d. Lewin iv. Use of Non-sense Syllables 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iii iv i 
 (3) iii iv i ii 
 (4) iv iii ii i 

 
25. Which of the following sequences is correct with respect to effective teaching ? 
 (1) Match student’s level → specify learning goals → emphasize self comparison → 

suggest improvements and model problem solving. 
 (2) Specify learning goals → emphasize self-comparison → suggest improvements and 

model problem solving → match student’s level. 
 (3) Suggest improvements and model problem solving → match student’s level → 

specify learning goals → emphasize self-comparison 
 (4) Emphasize self-comparison → match student’s level → specify learning goals → 

suggest improvements and model problem solving. 

 
26. Which of the following techniques can be used to study activities in a living human brain ? 
 (a) Computerized Tomography 
 (b) Ablation and Lesioning 
 (c) Stereotoxic Procedures 
 (d) Functional Magnetic Resonance Imaging  
 (1) only (a) and (d) (2) only (c) and (d) 
 (3) only (b), (c) and (d) (4) only (a), (c) and (d) 
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23. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî¸ ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ 
†¯Ö®ÖÖ ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) :  ¯Ö¸ŸÖÓ¡Ö ²Ö““Öê ´ÖÓ¿ÖÖ Û ß ²Ö�ÖÖµÖ ˆ§ê¿µÖ Û Öê ¯ÖÏÖ¯ŸÖ Û ¸®Öê ¯Ö¸ Ûê ×®¦ŸÖ ¸ÆŸÖê Æî …   
 ŸÖÛÔ  (R) : ¯Ö¸ŸÖÓ¡Ö ²Ö““Öê ´Öë ®Öî×ŸÖÛ  ×¾ÖÛ ÖÃÖ ÃÖß×´ÖŸÖ ÆÖêŸÖÖ Æî …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æî, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

24. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 
ÃÖæ“Öß – I 

(´Ö®ÖÖê¾Öî–ÖÖ×®ÖÛ ) 
ÃÖæ“Öß – II 

(ŸÖ£µÖ×¾ÖÂÖµÖ) 
a. ‹Ø²ÖÝÆÖÃÖ i. Ûã ” Û ÖµÖÔ ¯Öæ¸Ö Û ¸®Öê Û Öê Æî …   
b. ²ÖÖ™Ô»Öê™  ii. »Ö‘Öã Û ÆÖ×®ÖµÖÖë Û Ö ˆ¯ÖµÖÖêÝÖ   
c. ´Ö¸ì iii. ÃÖÖ£ÖÔÛ  ¿Ö²¤Öë Û Ö ˆ¯ÖµÖÖêÝÖ   
d. ×»Ö×¾Ö®Ö iv. †£ÖÔÆß®Ö ¬¾Ö×®Ö²ÖÓ¬ÖÖë Û Ö ˆ¯ÖµÖÖêÝÖ   

  Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iii iv i 
 (3) iii iv i ii 
 (4) iv iii ii i 

 
25. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ¯ÖÏ³ÖÖ¾Öß ×¿ÖõÖÞÖ Ûê  ÃÖÓ²ÖÓ¬Ö ´Öë Û Öî®Ö ÃÖÖ ÛÎ ´Ö ÃÖÆß Æî ? 

 (1) ×¾ÖªÖ£Öá Ûê  ÃŸÖ¸ Û Öê ÃÖã´Öê×»ÖŸÖ Û ¸®ÖÖ → †×¬ÖÝÖ´Ö »ÖõµÖ ×¾Ö×®ÖÙ¤Â™ Û ¸®ÖÖ → Ã¾ÖŸÖã»Ö®ÖÖ ¯Ö¸ ²Ö»Ö ¤ê®ÖÖ → ÃÖã¬ÖÖ¸ 
Ûê  ÃÖã—ÖÖ¾Ö †Öî¸ †Ö¤¿ÖÔ ÃÖ´ÖÃµÖÖ ÃÖ´ÖÖ¬ÖÖ®Ö 

 (2) †×¬ÖÝÖ´Ö »ÖõµÖ ×¾Ö×®ÖÙ¤Â™ Û ¸®ÖÖ → Ã¾ÖŸÖã»Ö®ÖÖ ¯Ö¸ ²Ö»Ö ¤ê®ÖÖ → ÃÖã¬ÖÖ¸ Ûê  ÃÖã—ÖÖ¾Ö †Öî¸ †Ö¤¿ÖÔ ÃÖ´ÖÃµÖÖ 
ÃÖ´ÖÖ¬ÖÖ®Ö → ×¾ÖªÖ£Öá Ûê  ÃŸÖ¸ Û Öê ÃÖã´Öê×»ÖŸÖ Û ¸®ÖÖ 

 (3) ÃÖã¬ÖÖ¸ Ûê  ÃÖã—ÖÖ¾Ö †Öî¸ †Ö¤¿ÖÔ ÃÖ´ÖÃµÖÖ ÃÖ´ÖÖ¬ÖÖ®Ö → ×¾ÖªÖ£Öá Ûê  ÃŸÖ¸ Û Öê ÃÖã´Öê×»ÖŸÖ Û ¸®ÖÖ → †×¬ÖÝÖ´Ö »ÖõµÖ 
×¾Ö×®ÖÙ¤Â™ Û ¸®ÖÖ → Ã¾ÖŸÖã»Ö®ÖÖ ¯Ö¸ ²Ö»Ö ¤ê®ÖÖ 

 (4) Ã¾ÖŸÖã»Ö®ÖÖ ¯Ö¸ ²Ö»Ö ¤ê®ÖÖ → ×¾ÖªÖ£Öá Ûê  ÃŸÖ¸ Û Öê ÃÖã´Öê×»ÖŸÖ Û ¸®ÖÖ → †×¬ÖÝÖ´Ö »ÖõµÖ ×¾Ö×®ÖÙ¤Â™ Û ¸®ÖÖ → ÃÖã¬ÖÖ¸ 
Ûê  ÃÖã—ÖÖ¾Ö †Öî¸ †Ö¤¿ÖÔ ÃÖ´ÖÃµÖÖ ÃÖ´ÖÖ¬ÖÖ®Ö 

 
26. �Öß×¾ÖŸÖ ´ÖÖ®Ö¾Ö ´Ö×ÃŸÖÂÛ  ´Öë ÆÖê®Öê ¾ÖÖ»Öê ×ÛÎ µÖÖÛ »ÖÖ¯ÖÖë Ûê  †¬µÖµÖ®Ö Ûê  ×»Ö‹ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ ŸÖÛ ®ÖßÛ  Û Ö ˆ¯ÖµÖÖêÝÖ 

×Û µÖÖ �ÖÖŸÖÖ Æî ? 
 (a) Û ´¯µÖæ™¸ßÛé ŸÖ ™Öò´ÖÖêÝÖÏÖ± ß (b) ‹²»Öê¿Ö®Ö ‹Þ› »ÖêÃÖØ®ÖÝÖ  
 (c) Ã™ß×¸µÖÖê™Öê×ŒÃÖÛ  ¯ÖÏ×ÛÎ µÖÖ  (d) ±Ó Œ¿Ö®Ö»Ö ´ÖîÝ®Öê×™Û  ×¸�ÖÖê®Öê®ÃÖ ‡´ÖêØ�ÖÝÖ  
 (1) Ûê ¾Ö»Ö (a) †Öî¸ (d) (2) Ûê ¾Ö»Ö (c) †Öî¸ (d) 

 (3) Ûê ¾Ö»Ö (b), (c) †Öî̧  (d) (4) Ûê ¾Ö»Ö (a), (c) †Öî̧  (d) 
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27. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using codes given below : 

 Assertion (A) : Preoperational child has irreversible thought. 
 Reason (R) : The preoperational child fails to perform conservation tasks. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 

28. Sleep disorders can be categorized as  
 (1) Paraphilias and Dysfunctions 
 (2) Insomnia and Hypersomnia 
 (3) Parasomnias and Dyssomnias 
 (4) Serotonergic and Dopaminergic 
 

29. Match List – I with List – II and select the correct answer by choosing from the codes 
given below : 

    List – I 
   (Goals in educational 

achievement) 

List – II 
(Description) 

a. Mastery i. Solving problem at hand gains importance 
b. Task involvement ii. Students intend to maximize ability, regardless 

of short term failure 
c. Performance 

improvement 
iii. Students focus on how they are judged by 

others. 
d. Ego involvement iv. Students intend to increase competence 

 Codes : 
  a b c d   
 (1) ii i iv iii 
 (2) i ii iii iv 
 (3) iii iv ii i 
 (4) iv iii ii i 
 
30. Which of the following phenomena result from failures in attentional capture ? 
 (a) Inattentional blindness 
 (b) Change detection 
 (c) Flicker paradigm 
 Code : 
 (1) only (a) and (c) 
 (2) only (a) and (b) 
 (3) only (b) and (c) 
 (4) (a), (b) and (c) 
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27. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî¸ ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ 
†¯Ö®ÖÖ ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) :  ¯Öæ¾ÖÔ ×ÛÎ µÖÖ¿Öß»Ö ²Ö““Öê Ûê  ×¾Ö“ÖÖ¸ †¯Ö×¸¾ÖŸÖÔ®ÖßµÖ ÆÖêŸÖê Æï …  
 ŸÖÛÔ  (R) : ¯Öæ¾ÖÔ ×ÛÎ µÖÖ¿Öß»Ö ²Ö““Öê ÃÖÓ¸õÖÞÖ Û Ö Û ÖµÖÔ ®ÖÆà Û ¸ ¯ÖÖŸÖê …  
 Ûæ ™ : 

 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æî, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

28. ×®Ö¦Ö ×¾ÖÛ Ö¸ Û Öê ×®Ö´®Ö×»Ö×ÜÖŸÖ º ¯Ö ´Öë ¾ÖÝÖáÛé ŸÖ ×Û µÖÖ �ÖÖ ÃÖÛ ŸÖÖ Æî : 
 (1) ¯Öî¸Ö×± ×»ÖµÖÖÃÖ †Öî¸ ×›Ã±Ó Œ¿Ö®Ö  (2) †×®Ö¦Ö †Öî¸ †×ŸÖ×®Ö¦Ö 
 (3) ¯Öî¸ÖÃÖÖê×´®ÖµÖÖ †Öî¸ ×›ÃÖÃÖÖê×´®ÖµÖÖ (4) ×ÃÖ¸Öê™Öê®ÖêÙ�ÖÛ  †Öî¸ ›Öê¯ÖÖ×´Ö®ÖêÙ�ÖÛ   
 
29. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I 
(¿ÖîõÖ×ÞÖÛ  ˆ¯Ö»Ö×²¬Ö ´Öë »ÖõµÖ) 

ÃÖæ“Öß – II 
(×¾Ö¾Ö¸ÞÖ) 

a. ×®Ö¯ÖãÞÖŸÖÖ i. ¾ÖŸÖÔ´ÖÖ®Ö ÃÖ´ÖÃµÖÖ ÃÖ´ÖÖ¬ÖÖ®Ö Û Ö ´ÖÆ¢¾Ö ²ÖœÌ �ÖÖŸÖÖ Æî …   
b. Û ÖµÖÔ-ÃÖÓ»ÖÝ®ÖŸÖÖ ii. ×¾ÖªÖ£Öá †»¯ÖÛ Ö×»ÖÛ  †ÃÖ± »ÖŸÖÖ Ûê  ²ÖÖ¾Ö�Öæ¤ †¯Ö®Öß õÖ´ÖŸÖÖ Û Öê 

†×¬ÖÛ ŸÖ´Ö Û ¸®ÖÖ “ÖÖÆŸÖê Æï …   
c. ×®ÖÂ¯ÖÖ¤®Ö ÃÖã¬ÖÖ¸  iii. ×¾ÖªÖ£Öá ‡ÃÖ ²ÖÖŸÖ ¯Ö¸ ¬µÖÖ®Ö Ûë ×¦ŸÖ Û ¸ŸÖê Æî ×Û  †®µÖ »ÖÖêÝÖÖë «Ö¸Ö 

ˆ®ÖÛê  ²ÖÖ¸ê ´Öë ŒµÖÖ ×®ÖÞÖÔµÖ ×»ÖµÖÖ �ÖÖŸÖÖ Æï …   
d. †ÆÓ-ÃÖÓ»ÖÝ®ÖŸÖÖ iv. ×¾ÖªÖ£Öá †¯Ö®Öß ¤õÖŸÖÖ ²ÖœÌÖ®ÖÖ “ÖÖÆŸÖê Æï …   

  Ûæ ™ : 

  a b c d   
 (1) ii i iv iii 
 (2) i ii iii iv 
 (3) iii iv ii i 
 (4) iv iii ii i 
 
30. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖß ×Ã£Ö×ŸÖ †¾Ö¬ÖÖ®Ö ¯ÖÏÝÖÏÆÞÖ Û ß †ÃÖ± »ÖŸÖÖ Ûê  ¯Ö×¸ÞÖÖ´ÖÃ¾Öº ¯Ö ˆŸ¯Ö®®Ö ÆÖêŸÖß Æî ? 
 (a) ˆ¯ÖêõÖÖ�Ö®µÖ †Ó¬ÖŸÖÖ  
 (b) ¯Ö×¸¾ÖŸÖÔ®Ö Û Ö ¯ÖŸÖÖ »ÖÝÖÖ®ÖÖ  
 (c) °»ÖßÛ ¸ ¯Öî¸Ö›Ö‡´Ö 
 Ûæ ™ : 
 (1) Ûê ¾Ö»Ö (a) †Öî̧  (c) 

 (2) Ûê ¾Ö»Ö (a) †Öî̧  (b) 

 (3) Ûê ¾Ö»Ö (b) †Öî̧  (c) 

 (4) (a), (b) †Öî̧  (c) 
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31. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using codes given below : 

 Assertion (A) : Individuals high in self-esteem have a relatively weak desire for social 
rewards. 

 Reason (R) : Social anxiety and loneliness are both associated with unrewarding 
social interactions. 

 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 
32. Which of the following statement/s is/are true about culture-fair tests ? 
 (a) They attempt to minimize the use of language. 
 (b) Suitable different versions of the test are devised for different cultural groups. 
 (c) They are composed of materials to which all sociocultural groups have been 

presumably exposed. 
 (d) They attempt to assess the effects of culture on people’s intellectual and creative 

skills. 
 (1) (a) only (2) (a) and (c) only 
 (3) (a), (b) and (c) only (4) (b), (c), (d) only 
 
33. Which is the correct sequence of the stages involved in creative thinking ? 
 (1) Preparation; orientation; illumination; incubation; verification 
 (2) Preparation; incubation; illumination; orientation; verification 
 (3) Orientation; preparation; incubation; illumination; verification 
 (4) Orientation; preparation; illumination; incubation; verification 
 
34. Selective attention in vision and audition respectively have been dubbed as  
 (1) ‘optic’ and ‘haptic’ (2) ‘spotlight’ and ‘gateway’ 
 (3) ‘spatial’ and ‘acoustic’ (4) ‘central’ and ‘peripheral 
 
35. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
    List – I 

       (Intervention model)
List – II 

(Used primarily for )
a. Eye Movement Desensitization and Retraining i. Ventilation 
b. Client Centred Therapy ii. Cognitive Restructuring 
c. Rational Emotive Behaviour Therapy iii. Post-traumatic Stress 
d. Behaviour Therapy iv. Desensitization 

 Codes : 
  a b c d   
 (1) ii iii iv i 
 (2) i ii iii iv 
 (3) iii i ii iv 
 (4) iv iii ii i 
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31. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî¸ ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ 
†¯Ö®ÖÖ ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) : ˆ““Ö †ÖŸ´Ö ÃÖ´´ÖÖ®Ö ¾ÖÖ»Öê ¾µÖ×ŒŸÖµÖÖë Û ß ÃÖÖ´ÖÖ×�ÖÛ  ¯Öã¸ÃÛ Ö¸Öë Ûê  ×»ÖµÖê †¯ÖêõÖÖÛé ŸÖ Û ´Ö ‡“”Ö ÆÖêŸÖß 
Æî …  

 ŸÖÛÔ  (R) : ÃÖÖ´ÖÖ×�ÖÛ  ×“Ö®ŸÖÖ †Öî¸ ‹Û ÖÛ ß¯Ö®Ö ¤Öê®ÖÖë ÃÖÖ´ÖÖ×�ÖÛ  †®ŸÖ:×ÛÎ µÖÖ Ûê  ×»ÖµÖê ¯Öã¸ÃÛé ŸÖ ®ÖÆà ×Û µÖê �ÖÖ®Öê ÃÖê 
ÃÖÓ²ÖÓ×¬ÖŸÖ Æî …  

 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æî, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 
32. ÃÖÓÃÛé ×ŸÖ-´ÖãŒŸÖ ¯Ö¸ßõÖÞÖÖë Ûê  ÃÖÓ²ÖÓ¬Ö ´Öë ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ/ÃÖê Û £Ö®Ö ÃÖÆß Æï ? 
 (a) ¾Öê ³ÖÖÂÖÖ Ûê  ˆ¯ÖµÖÖêÝÖ Û Öê Û ´Ö Û ¸®Öê Û Ö ¯ÖÏµÖÖÃÖ Û ¸ŸÖê Æï …   
 (b) ×¾Ö×³Ö®®Ö ÃÖÖÓÃÛé ×ŸÖÛ  ÃÖ´ÖæÆÖë Ûê  ×»Ö‹ ¯Ö¸ßõÖÞÖ Ûê  ˆ¯ÖµÖãŒŸÖ ×¾Ö×³Ö®®Ö ÃÖÓÃÛ ¸ÞÖ ŸÖîµÖÖ¸ ×Û ‹ �ÖÖŸÖê Æï …  
 (c) ¾Öê ˆ®Ö ÃÖÖ´Ö×ÝÖÏµÖÖë ÃÖê ²Ö®Öê ÆÖêŸÖê Æï ×�Ö®Æë ÃÖ³Öß ÃÖÖ´ÖÖ×�ÖÛ  ÃÖÓÃÛé ×ŸÖ ÃÖ´ÖæÆ†Öë Ûê  ¯ÖÏ×ŸÖ †®ÖÖ¾ÖéŸÖ ´ÖÖ®ÖÖ �ÖÖŸÖÖ Æî …  
 (d) ¾Öê »ÖÖêÝÖÖë Û ß ²ÖÖî×¨Û ŸÖÖ ŸÖ£ÖÖ ¸“Ö®ÖÖŸ´ÖÛ  Û Öî¿Ö»Ö ¯Ö¸ ÃÖÓÃÛé ×ŸÖ Ûê  ¯ÖÏ³ÖÖ¾Ö Û Öê †ÖÓÛ ®Öê Û Ö ¯ÖÏµÖÖÃÖ Û ¸ŸÖê Æï …  
 (1) Ûê ¾Ö»Ö (a) (2) Ûê ¾Ö»Ö (a) †Öî̧  (c)  
 (3) Ûê ¾Ö»Ö (a), (b) †Öî̧  (c) (4) Ûê ¾Ö»Ö (b), (c) †Öî̧  (d)  
 
33. ÃÖ�ÖÔ®ÖÖŸ´ÖÛ  Ø“ÖŸÖ®Ö ´Öë ¿ÖÖ×´Ö»Ö “Ö¸ÞÖÖë Û Ö ÃÖÆß ÛÎ ´Ö ŒµÖÖ Æî ? 
 (1) ŸÖîµÖÖ¸ß; †×³Ö×¾Ö®µÖÖÃÖ; ¯ÖÏ¤ß×¯ŸÖ; ˆÂ´ÖÖµÖ®Ö; ÃÖŸµÖÖ¯Ö®Ö 
 (2) ŸÖîµÖÖ¸ß; ˆÂ´ÖÖµÖ®Ö; ¯ÖÏ¤ß×¯ŸÖ; †×³Ö×¾Ö®µÖÖÃÖ; ÃÖŸµÖÖ¯Ö®Ö 
 (3) †×³Ö×¾Ö®µÖÖÃÖ; ŸÖîµÖÖ¸ß; ˆÂ´ÖÖµÖ®Ö; ¯ÖÏ¤ß×¯ŸÖ; ÃÖŸµÖÖ¯Ö®Ö 
 (4) †×³Ö×¾Ö®µÖÖÃÖ; ŸÖîµÖÖ¸ß; ¯ÖÏ¤ß×¯ŸÖ; ˆÂ´ÖÖµÖ®Ö; ÃÖŸµÖÖ¯Ö®Ö 
 
34. “ÖµÖ×®ÖŸÖ †¾Ö¬ÖÖ®Ö Û Öê ¥×Â™ †Öî¸ ÁÖ¾ÖÞÖ ´Öë ÛÎ ´Ö¿Ö: ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖÛê  º ¯Ö ´Öë †ÓŸÖ×¸ŸÖ (›²Ö) ×Û µÖÖ ÝÖµÖÖ Æî ? 
 (1) ‘¥ÂµÖÖŸ´ÖÛ ’  †Öî̧  ‘Æî×¯™Û ’ (2) ‘Ã¯ÖÖò™»ÖÖ‡Ô™’  †Öî¸ ‘ ÝÖê™ ¾Öê’ 
 (3) ‘Ã£ÖÖ®ÖÝÖŸÖ’  †Öî¸ ‘ÁÖÖÞÖ×¾ÖÛ ’ (4) ‘Ûê ®¦ßµÖ’  †Öî̧  ‘ ²Ö×Æ¸’  
 
35. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I 
(´Ö¬µÖ¾ÖŸÖÔ ´ÖÖò›»Ö) 

ÃÖæ“Öß – II 
(¯ÖÏÖ£Ö×´ÖÛ  º ¯Ö ÃÖê ¯ÖÏµÖãŒŸÖ ) 

a. ®Öê¡Ö ÃÖÓ“Ö»Ö®Ö Û Ö ×¾ÖÃÖÓ¾Öê¤ßÛ ¸ÞÖ †Öî¸ ¯Öã®Ö:¯ÖÏ×¿ÖõÖÞÖ i. ÃÖÓ¾ÖÖŸÖ®Ö 
b. ¾µÖ×ŒŸÖ Ûê ×®¦ŸÖ ×“Ö×Û ŸÃÖÖ  ii. ÃÖÓ–ÖÖ®ÖÖŸ´ÖÛ  ¯Öã®ÖÝÖÔš®Ö  
c. ŸÖÖÙÛ Û  ÃÖÓ¾ÖêÝÖ ¾µÖ¾ÖÆÖ¸ ×“Ö×Û ŸÃÖÖ  iii. ¯Ö¸Ö †×³Ö‘ÖÖŸÖ ¯ÖÏ×ŸÖ²Ö»Ö  
d. ¾µÖ¾ÖÆÖ¸ ×“Ö×Û ŸÃÖÖ  iv. ×¾ÖÃÖÓ¾Öê¤ßÛ ¸ÞÖ  

  Ûæ ™ : 
  a b c d   
 (1) ii iii iv i 
 (2) i ii iii iv 
 (3) iii i ii iv 
 (4) iv iii ii i 
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36. Which is not the part of “on the job training” ? 
 (1) Orientation training (2) Job instruction training 
 (3) Role playing (4) Apprentice training 
 
37. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
    List – I List – II 

a. Symbolizing i. Employee’s belief that how successfully 
they can accomplish the task in future. 

b. Forethought ii. Employees process visual experiences that 
guide for their future actions 

c. Self-regulatory iii. Employees plan their actions anticipating 
their desired performance level 

d. Self-reflective iv. Employees actions by setting internal 
standards for their performance. 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iii iv i 
 (3) iii iv i ii 
 (4) iv i ii iii 
 
38. “Pygmalion effect” in educational settings suggests : 
 (1) exceptional progress by student as a result of high teacher expectations. 
 (2) biases creeping into summative assessment 
 (3) authenticity factors in classroom assessment. 
 (4) influences on curricular structure. 
 
39. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
    List – I 

(Psychologist) 
List – II 

(Concept/approach) 
a. Vygotsky i. Ethological approach 
b. Piaget ii. Ecological approach 
c. Bronfenbrenner iii. Zone of proximal development 
d. Bowlby iv. Epistemological approach 

 Codes : 
  a b c d   
 (1) iii iv ii i 
 (2) iii i ii iv 
 (3) i iv iii ii 
 (4) iv i ii iii 
 
40. Which of the following is not a diagnosable sleep disorder : 
 (1) Somnambulism (2) Somniloquy 
 (3) Sleep terror (4) Insomnia 
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36. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ “Û ÖµÖÔ Ûê  ¤Öî¸Ö®Ö ¯ÖÏ×¿ÖõÖÞÖ”  Û Ö ×ÆÃÃÖÖ ®ÖÆà Æî ? 
 (1) †×³Ö´ÖãÜÖßÛ ¸ÞÖ ¯ÖÏ×¿ÖõÖÞÖ (2) Û ÖµÖÔ †®Öã¤ê¿Ö ¯ÖÏ×¿ÖõÖÞÖ 
 (3) ³Öæ×´ÖÛ Ö ×®Ö¾ÖÔÆ®Ö  (4) ¯ÖÏ×¿ÖõÖã ¯ÖÏ×¿ÖõÖÞÖ  
 
37. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 
a. ¯ÖÏŸÖßÛ  «Ö¸Ö ¯ÖÏÃŸÖãŸÖ Û ¸®ÖÖ  i. Û ´ÖÔ“ÖÖ×¸µÖÖë Û Öê ×¾Ö¿¾ÖÖÃÖ ÆÖêŸÖÖ Æî ×Û  ¾Öê ³Ö×¾ÖÂµÖ ´Öë Û ÖµÖÔ Û Öê 

×Û ŸÖ®Öß ÃÖ± »ÖŸÖÖ ÃÖê ¯Öæ¸Ö Û ¸ ÃÖÛ ŸÖê Æï …   
b. ¯Öæ¾ÖÔ ×¾Ö“ÖÖ¸  ii. Û ´ÖÔ“ÖÖ¸ß ¥¿µÖ †®Öã³Ö¾ÖÖë Û Öê ÃÖÓÃÖÖ×¬ÖŸÖ Û ¸ŸÖê Æî �ÖÖê ˆ®ÖÛê  ³ÖÖ¾Öß 

Û ÖµÖÖí Û Öê ×®Ö¤ì×¿ÖŸÖ Û ¸ŸÖê Æî …   
c. Ã¾Ö-×¾Ö×®ÖµÖÖ´ÖÛ   iii. Û ´ÖÔ“ÖÖ¸ß †¯Ö®Öê ¾ÖÖÓ×”ŸÖ ×®ÖÂ¯ÖÖ¤®Ö ÃŸÖ¸ Û Öê ¯ÖÏÖ¯ŸÖ Û ¸®Öê Ûê  ×»Ö‹ 

†¯Ö®Öê Û ÖµÖÖí Û ß µÖÖê�Ö®ÖÖ ²Ö®ÖÖŸÖê Æï …   
d. Ã¾Ö-×¾Ö“ÖÖ¸¿Öß»ÖŸÖÖ  iv. Û ´ÖÔ“ÖÖ¸ß †¯Ö®Öê ×®ÖÂ¯ÖÖ¤®Ö Ûê  ×»Ö‹ †ÖÓŸÖ×¸Û  ´ÖÖ®ÖÛ  ×®Ö¬ÖÖÔ×¸ŸÖ 

Û ¸Ûê  Û ÖµÖÔ Û ¸ŸÖê Æî …   
  Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iii iv i 
 (3) iii iv i ii 
 (4) iv i ii iii 
 
38. ¿ÖîõÖ×ÞÖÛ  ÃÖÓ¤³ÖÔ ´Öë “ ×¯ÖÝ´Öî×»ÖµÖ®Ö ¯ÖÏ³ÖÖ¾Ö”  Û Ö ŒµÖÖ †×³Ö¯ÖÏÖµÖ Æî : 
 (1) ×¿ÖõÖÛ Öë Û ß ˆ““Ö ¯ÖÏŸµÖÖ¿ÖÖ Ûê  ± »ÖÃ¾Öº ¯Ö ×¾ÖªÖ£Öá Û ß †¯Ö¾ÖÖ×¤ŸÖ ¯ÖÏÝÖ×ŸÖ  
 (2) ÃÖÓÛ »Ö®ÖÖŸ´ÖÛ  ×®Ö¬ÖÖÔ¸ÞÖ (ÃÖ´Öê×™¾Ö †ÃÖêÃÖ´Öë™) ´Öë ¯Öæ¾ÖÔÝÖÏÆÖë Û Ö †Ö®ÖÖ  
 (3) Û õÖßµÖ ´Öæ»µÖÖÓÛ ®Ö ´Öë ¯ÖÏÖ´ÖÖ×ÞÖÛ ŸÖÖ Û Ö¸Û   
 (4) ¯ÖÖšËµÖÛÎ ´Ö ÃÖÓ¸“Ö®ÖÖ ´Öë ¯ÖÏ³ÖÖ¾Ö  
 
39. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I 
(´Ö®ÖÖê¾Öî–ÖÖ×®ÖÛ ) 

ÃÖæ“Öß – II 
(†¾Ö¬ÖÖ¸ÞÖÖ/ˆ¯ÖÖÝÖ´Ö) 

a. ×¾ÖÝÖÖê™ÃÛ ß i. †Ö“ÖÖ¸ ¿ÖÖÃ¡ÖßµÖ ˆ¯ÖÖÝÖ´Ö   
b. ×¯ÖµÖÖ�Öê  ii. ¯ÖµÖÖÔ¾Ö¸ÞÖßµÖ ˆ¯ÖÖÝÖ´Ö   
c. ²ÖÎÖê®Ö±ê ®Ö²ÖÎê®Ö¸  iii. ÃÖ´Öß¯ÖÃ£Ö ×¾ÖÛ ÖÃÖ Û Ö õÖê¡Ö   
d. ²ÖÖ‰ »Ö¾Öß  iv. –ÖÖ®Ö ´Öß´ÖÖÓÃÖßµÖ ˆ¯ÖÖÝÖ´Ö   

  Ûæ ™ : 
  a b c d   
 (1) iii iv ii i 
 (2) iii i ii iv 
 (3) i iv iii ii 
 (4) iv i ii iii 
 
40. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ×®Ö¦Ö ×¾ÖÛ Ö¸ ×®Ö¤Ö®ÖµÖÖêÝµÖ ®ÖÆà Æî ? 
 (1) ÃÖÖê´®Öê´²Öã×»Ö�´Ö (2) ÃÖÖê´®Öß»ÖÖêÛ ß 
 (3) ×®Ö¦Ö ³ÖµÖ  (4) †×®Ö¦Ö 
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41. A field experiment at the Bronx Zoo illustrated the potential importance of  
indicating that an individual has legitimate authority. Fill in the blank from given below. 

 (1) Gender (2) Uniforms 
 (3) Age (4) An authoritarian personality 
 
42. Self-actualizers are characterised as  
 (a) They have more efficient perception of reality than non-actualisers. 
 (b) They show greater acceptance of themselves, others, and nature than do non-

actualizers. 
 (c) They tend to be more concerned with undertaking tasks that will benefit themselves. 
 (d) They also have some weaknesses. 
 Codes :  
 (1) (a), (b) and (c) only (2) (a), (b) and (d) only 
 (3) (b), (c) and (d) only (4) (a), (c) and (d) only 
 
43. Thinking is a complex set of collaborations between  and  

representations and processes. 
 (1) Linguistic; semantic (2) Linguistic; verbal 
 (3) Semantic; non-linguistic (4) Linguistic; non-linguistic 
 
44. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
List – I List – II 

a. Autistic thinking i. Planning 
b. Creative thinking ii. Fantasy 
c. Deterministic thinking iii. Illusion 
d. Cognitive thinking iv. Dreams 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) iv iii ii i 
 (3) iv i ii iii 
 (4) i iv iii ii 
 
45. Signal detection depends upon 
 (1) motivation and expectations 
 (2) signal intensity and noise 
 (3) sensitivity and response criterion 
 (4) absolute and relative thresholds 
 
46. Which of the following does not present with symptoms of mental retardation ? 
 (1) Cri du chat syndrome (2) Down’s syndrome 

 (3) Fugue (4) Trisomy-21 
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41. ²ÖÎÖÓŒÃÖ ×“Ö×›ÌµÖÖ‘Ö¸ ´Öë õÖê¡Ö ¯ÖÏµÖÖêÝÖ ´Öë ________ Ûê  ÃÖ´³ÖÖ×¾ÖŸÖ ´ÖÆ¢¾Ö Û Öê ¤¿ÖÖÔµÖÖ ÝÖµÖÖ Æî ×�ÖÃÖ´Öë µÖÆ ÃÖÓÛê ŸÖ ¯ÖÏÖ¯ŸÖ ÆÖêŸÖÖ 
Æî ×Û  ×Û ÃÖß ¾µÖ×ŒŸÖ Û Ö ¾Öî¬Ö ¯ÖÏÖ×¬ÖÛ Ö¸ ÆÖêŸÖÖ Æî … ×®Ö´®Ö ´Öë ÃÖê ×¸ŒŸÖ Ã£ÖÖ®Ö Û ß ¯ÖæÙŸÖ Û ¸ë … 

 (1) �Öê®›¸  (2) ÝÖÞÖ¾Öê¿Ö  

 (3) ˆ´ÖÏ  (4) ‹Û  †×¬ÖÛ Ö¸¾ÖÖ¤ß ¾µÖ×ŒŸÖŸ¾Ö  

 
42. †ÖŸ´Ö×ÃÖ¨ ¾µÖ×ŒŸÖµÖÖë Û ß ×¾Ö¿ÖêÂÖŸÖÖ‹Ñ Æï  

 (a) ¾Öê ÝÖî¸ †ÖŸ´Ö×ÃÖ¨Öë Û ß ŸÖã»Ö®ÖÖ ´Öë ¾ÖÖÃŸÖ×¾ÖÛ ŸÖÖ Û Ö †×¬ÖÛ  Ûã ¿Ö»Ö ¯ÖÏŸµÖõÖÞÖ ¸ÜÖŸÖê Æï …  

 (b) ¾Öê ÝÖî¸ †ÖŸ´Ö×ÃÖ¨Öë Û ß †¯ÖêõÖÖ Ã¾ÖµÖÓ, †®µÖ ¾µÖ×ŒŸÖµÖÖë ŸÖ£ÖÖ ¯ÖÏÛé ×ŸÖ Ûê  ¯ÖÏ×ŸÖ †×¬ÖÛ  Ã¾ÖßÛ ÖµÖÔŸÖÖ ¤¿ÖÖÔŸÖê Æï …  

 (c) ¾Öê ‹êÃÖê Û ÖµÖÖí Ûê  ¯ÖÏ×ŸÖ †×¬ÖÛ  Ø“Ö×ŸÖŸÖ ×¤ÜÖŸÖê Æî ×�Ö®ÖÃÖê ˆ®Æë »ÖÖ³Ö ÆÖêŸÖÖ Æî …  

 (d) ˆ®ÖÛ ß ³Öß Ûã ” Û ´Ö�ÖÖê×¸µÖÖÑ ÆÖêŸÖß Æï …  

 Ûæ ™ :  

 (1) Ûê ¾Ö»Ö (a), (b) †Öî̧  (c) (2) Ûê ¾Ö»Ö (a), (b) †Öî̧  (d)  

 (3) Ûê ¾Ö»Ö (b), (c) †Öî̧  (d) (4) Ûê ¾Ö»Ö (a), (c) †Öî̧  (d)  

 
43. Ø“ÖŸÖ®Ö _________ †Öî¸ ___________ ¯ÖÏ×ŸÖ×®Ö×¬ÖŸ¾Ö ŸÖ£ÖÖ ¯ÖÏ×ÛÎ µÖÖ†Öë Ûê  ²Öß“Ö ÃÖÆµÖÖêÝÖÖë Û Ö �Ö×™»Ö ×¾Ö®µÖÖÃÖ Æî …  

 (1) ³ÖÖÂÖÖµÖß; ¿Ö²¤Ö£ÖÔ  (2) ³ÖÖÂÖÖµÖß; ¾ÖÖ×“ÖÛ   

 (3) ¿Ö²¤Ö£ÖÔ; ÝÖî¸-³ÖÖÂÖÖµÖß  (4) ³ÖÖÂÖÖµÖß; ÝÖî¸-³ÖÖÂÖÖµÖß  

 
44. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I ÃÖæ“Öß – II 

a. Ã¾Ö»Öß®Ö Ø“ÖŸÖ®Ö i. ×®ÖµÖÖê�Ö®Ö  

b. ÃÖ�ÖÔ®ÖÖŸ´ÖÛ  Ø“ÖŸÖ®Ö  ii. Û Öê¸ß Û »¯Ö®ÖÖ   

c. ×®ÖµÖ×ŸÖ¾ÖÖ¤ß Ø“ÖŸÖ®Ö  iii. ³ÖÏ´Ö  

d. ÃÖÓ–ÖÖ®ÖÖŸ´ÖÛ  Ø“ÖŸÖ®Ö  iv. Ã¾Ö¯®Ö   

  Ûæ ™ : 

  a b c d   
 (1) i ii iii iv 
 (2) iv iii ii i 
 (3) iv i ii iii 
 (4) i iv iii ii 
 
45. ÃÖÓÛê ŸÖ ÃÖÓÃÖæ“Ö®Ö ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ×Û ÃÖ ¯Ö¸ ×®Ö³ÖÔ¸ Û ¸ŸÖß Æî ? 

 (1) ¯ÖÏê¸ÞÖÖ †Öî¸ ¯ÖÏŸµÖÖ¿ÖÖ  (2) ÃÖÓÛê ŸÖ ¯ÖÏ¾ÖÞÖŸÖÖ †Öî¸ ¿ÖÖê¸  

 (3) ÃÖÓ¾Öê¤®Ö¿Öß»ÖŸÖÖ †Öî¸ ¯ÖÏ×ŸÖ×ÛÎ µÖÖ ´ÖÖ®ÖÛ   (4) ×®Ö¸¯ÖêõÖ †Öî¸ ŸÖã»Ö®ÖÖŸ´ÖÛ  ÃÖß´ÖÖ®ŸÖ  

 
46. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ´ÖÖ®Ö×ÃÖÛ  †ÃÖÖ´ÖÖ®µÖŸÖÖ Ûê  »ÖõÖÞÖÖë Û Öê ¯ÖÏÃŸÖãŸÖ ®ÖÆà Û ¸ŸÖÖ ? 

 (1) ÛÎ ß›ã †Öî¸ “Öî™ ÃÖÓÝÖ»ÖõÖÞÖ  (2) ›Ö‰ ®Ö ÃÖÓÝÖ»ÖõÖÞÖ 

 (3) °µÖæ�Ö  (4) ™ÒÖ‡ÃÖÖê´Öß-21 (×¡ÖÃÖæ¡ÖŸÖÖ-21) 
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47. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using the codes given below : 

 Assertion (A) : Neurons cannot fire during absolute refractory period. 
 Reason (R) : A neuron can release only one neurotransmitter. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 
48. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 

your answer using the codes given below : 
 Assertion (A) : When method of equal appearing intervals is employed to scale attitude 

items, median is usually used as an estimate of scale value. 
 Reason (R) : Under normal distribution, mean, median and mode are identical. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 

 
49. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
List – I 
(Book) 

       List – II 
       (Author) 

a. Toward a Psychology of Being i. May 
b. A Way of Being ii. Maslow 
c. Man’s Search for Meaning iii. Rogers 
d. Love and Will iv. Frankl 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iii iv i 
 (3) iii ii i iv 
 (4) iv i ii iii 
 
50. Therapist suggested to Sunil that while trying to give up the habit of washing hands 

unnecessarily, he should wear a rubber band around his wrist and snap it everytime he 
feels like washing his hands. What therapy he is using ? 

 (1) Systematic desensitization  (2) Aversion therapy 
 (3) Flooding (4) Modelling 
 
51. The need for  produces active, controlling social behaviour while need for 

_________ produces more passive, less controlling social behaviour. 
 (1) affiliation; self-esteem (2) confidence; intimacy 
 (3) affiliation; intimacy (4) intimacy; affiliation 

www.examrace.com



J-04-16 21  Paper-III  

47. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî¸ ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ 
†¯Ö®ÖÖ ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) :  ×®Ö¸¯ÖêõÖ †®Ö®Öã×ÛÎ µÖÖ †¾Ö×¬Ö Ûê  ¤Öî¸Ö®Ö ®µÖæ¸Öò®Ö ± ÖµÖ¸ ®ÖÆà Û ¸ ÃÖÛ ŸÖê Æî …   
 ŸÖÛÔ  (R) : ®µÖæ¸Öò®Ö Ûê ¾Ö»Ö ‹Û  ®µÖæ¸Öê ™ÒÖÓÃÖ×´Ö™¸ ×®Ö´ÖãÔŒŸÖ Û ¸ ÃÖÛ ŸÖÖ Æî …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æî, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

48. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî¸ ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ 
†¯Ö®ÖÖ ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) : �Ö²Ö †×³Ö¾Öé×¢Ö ´Ö¤Öë Ûê  ´ÖÖ¯Ö Ûê  ×»Ö‹ ÃÖ´ÖÖ®Ö ¥¿µÖ´ÖÖ®Ö †ÓŸÖ¸Ö¾Ö×¬Ö ×¾Ö×¬Ö Û Ö ˆ¯ÖµÖÖêÝÖ ×Û µÖÖ �ÖÖŸÖÖ Æî 
ŸÖÖê ´ÖÖ×¬µÖÛ Ö Û Öê ¯ÖÏÖµÖ: ´ÖÖ¯Ö ´Öæ»µÖ Ûê  ¯ÖÏÖŒÛ »Ö®Ö Ûê  º ¯Ö ´Öë ˆ¯ÖµÖÖêÝÖ ×Û µÖÖ �ÖÖŸÖÖ Æî …   

 ŸÖÛÔ  (R) : ÃÖÖ´ÖÖ®µÖ ×¾ÖŸÖ¸ÞÖ Ûê  †®ŸÖÝÖÔŸÖ ´Ö¬µÖ´ÖÖ®Ö, ´Ö¬µÖÖÓÛ  †Öî¸ ²ÖÆãÛ ÖÓÛ  ÃÖ´ÖÖ®Ö ÆÖêŸÖê Æï …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æî, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

49. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 
ÃÖæ“Öß – I 
(¯ÖãÃŸÖÛ ) 

ÃÖæ“Öß – II 
(»ÖêÜÖÛ ) 

a. ™æ¾ÖÖ›ÔËÃÖ ‹ ÃÖÖòµÖÛ Öê»ÖÖò�Öß  †Öò±  ²ÖàÝÖ i. ´Öê 
b. ‹ ¾Öê †Öò±  ²ÖàÝÖ  ii. ´ÖÖòÃ»ÖÖê 
c. ´Öî®ÃÖ ÃÖ“ÖÔ ± Öò¸ ´ÖßØ®ÖÝÖ iii. ¸Öê�ÖÃÖÔ  
d. »Ö¾Ö ‹Ó› ×¾Ö»Ö iv. ±Ïë Û »Ö 

  Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iii iv i 
 (3) iii ii i iv 
 (4) iv i ii iii 
 

50. ×“Ö×Û ŸÃÖÛ  ®Öê ÃÖã®Öß»Ö Û Öê ÃÖ»ÖÖÆ ¤ß ×Û  †®ÖÖ¾Ö¿µÖÛ  º ¯Ö ÃÖê ÆÖ£Ö ¬ÖÖê®Öê Û ß †Ö¤ŸÖ Û Öê ”Öê›Ì®Öê Ûê  ¯ÖÏµÖÖÃÖ Ûê  ÛÎ ´Ö ´Öë ˆÃÖê 
†¯Ö®Öß Û »ÖÖ‡Ô ¯Ö¸ ‹Û  ¸²Ö›Ì ²Öï› ¯ÖÆ®Ö®ÖÖ “ÖÖ×Æ‹ †Öî¸ �Ö²Ö ³Öß ¾ÖÆ µÖÆ ´ÖÆÃÖæÃÖ Û ¸ë ×Û  ˆÃÖê †¯Ö®Öê ÆÖ£Ö ¬ÖÖê®Öê “ÖÖ×Æ‹; 
¸²Ö›Ì ÜÖà“ÖÛ ¸ ”Öê›Ì®ÖÖ “ÖÖ×Æ‹ … µÖÆÖÑ ×“Ö×Û ŸÃÖÛ  Û Öî®Ö ÃÖß ×“Ö×Û ŸÃÖÖ †¯Ö®ÖÖ ¸ÆÖ Æî ? 

 (1) ¯ÖÏÞÖÖ»ÖßÝÖŸÖ ×¾ÖÃÖãÝÖÏÖÆßÛ ¸ÞÖ  (2) ×¾Ö´ÖãÜÖŸÖÖ ×“Ö×Û ŸÃÖÖ  
 (3) ²ÖÆã ¯Öã®Ö¸Ö¾Öé×¢Ö  (4) ¯ÖÏ×ŸÖº ¯ÖÞÖ 
 

51. _________ Û ß †Ö¾Ö¿µÖÛ ŸÖÖ ÃÖ×ÛÎ µÖ, ×®ÖµÖÓ¡ÖÞÖÛ  ÃÖÖ´ÖÖ×�ÖÛ  ¾µÖ¾ÖÆÖ¸ ˆŸ¯Ö®®Ö Û ¸ŸÖß Æî �Ö²Ö×Û  ________ Û ß 
†Ö¾Ö¿µÖÛ ŸÖÖ †×¬ÖÛ  ×®Ö×ÂÛÎ µÖ, Û ´Ö ×®ÖµÖÓ¡ÖÛ  ÃÖÖ´ÖÖ×�ÖÛ  ¾µÖ¾ÖÆÖ¸ ˆŸ¯Ö®®Ö Û ¸ŸÖß Æî …  

 (1) ÃÖÓ²ÖÓ¬Ö®Ö; †ÖŸ´Ö ÃÖ´´ÖÖ®Ö  (2) ×¾Ö¿¾ÖÖÃÖ; †®ŸÖ¸ÓÝÖŸÖÖ 
 (3) ÃÖÓ²ÖÓ¬Ö®Ö; †®ŸÖ¸ÓÝÖŸÖÖ (4) †®ŸÖ¸ÓÝÖŸÖÖ; ÃÖÓ²ÖÓ¬Ö®Ö 
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52. According to Triarchic Theory of Intelligence, arrange the correct functional sequence of 
metacomponents  

 (1) Identification of problem → defining the givens, goals & obstacles → choosing 
appropriate strategy → selection of lower order processes → selection of mental 
representation → allocation of mental resources → monitoring → evaluation. 

 (2) Identification of problem → defining the givens, goals & obstacles → selection of 
lower order processes → choosing appropriate strategy → selecting a mental 
representation → allocating mental resources → monitoring → evaluation. 

 (3) Identification of problem → choosing appropriate strategy → defining givens, goals 
and obstacles → allocating mental resources → monitoring → selecting mental 
representation → evaluation  

 (4) Defining the givens, goals and obstacles → identification of problem → selection of 
lower order processes → choosing appropriate strategy → selecting a mental 
representation → allocating mental resources → monitoring → evaluation 

 
53. Match List – I with List – II and select the correct answer by choosing from the codes 

given below : 
List – I 

(Method of student discipline)
       List – II 

       (Description) 
a. Positive reinforcement i. decreasing behaviour by presenting aversive 

stimulus after it 
b. Negative reinforcement ii. strengthening behaviour by removing aversive 

stimulus when behaviour occurs 
c. Presentation punishment iii. decreasing behaviour by removing pleasant 

stimulus after behaviour occurs. 
d. Removal punishment iv. strengthening behaviour by presenting desired 

stimulus after behaviour occurs. 
 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iv i iii 
 (3) iv ii i iii 
 (4) iii i ii iv 
 
54. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 

your answer using codes given below : 
 Assertion (A) : The child always carries water bottle with him while he goes to school. 
 Reason (R) : The child wants to satisfy his primary need. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
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52. ×®Ö´®Ö×»Ö×ÜÖŸÖ Û Öê ²Öã×¨ Ûê  ×¡Ö´ÖãÜÖß ×ÃÖ¨ÖÓŸÖ Ûê  †®ÖãÃÖÖ¸ †×³Ö†¾ÖµÖ¾ÖÖë Ûê  ÃÖÆß Û ÖµÖÖÔŸ´ÖÛ  †®ÖãÛÎ ´Ö ´Öë ¾µÖ¾Ö×Ã£ÖŸÖ      
Û ß×�Ö‹ : 

 (1) ÃÖ´ÖÃµÖÖ ŸÖÖ¤ÖŸ´ÖßÛ ¸ÞÖ → ¯ÖÏ¤¢ÖÖë, »ÖõµÖÖë ‹¾ÖÓ †¾Ö¸Öê¬ÖÖë Û Öê ¯Ö×¸³ÖÖ×ÂÖŸÖ Û ¸®ÖÖ → ˆ¯ÖµÖãŒŸÖ ÃÖÖ´Ö×¸Û ß Û Ö “ÖµÖ®Ö 
→ ×®Ö´®Ö ÃŸÖ¸ßµÖ ¯ÖÏ×ÛÎ µÖÖ†Öë Û Ö “ÖµÖ®Ö → ´ÖÖ®Ö×ÃÖÛ  ¯ÖÏ×ŸÖ×®Ö×¬ÖŸ¾Ö Û Ö “ÖµÖ®Ö → ´ÖÖ®Ö×ÃÖÛ  ÃÖÓÃÖÖ¬Ö®ÖÖë Û Ö †Ö²ÖÓ™®Ö 
→ ×®ÖÝÖ¸Ö®Öß → ´Öæ»µÖÖÓÛ ®Ö 

 (2) ÃÖ´ÖÃµÖÖ ŸÖÖ¤ÖŸ´ÖßÛ ¸ÞÖ → ¯ÖÏ¤¢ÖÖë, »ÖõµÖÖë ‹¾ÖÓ †¾Ö¸Öê¬ÖÖë Û Öê ¯Ö×¸³ÖÖ×ÂÖŸÖ Û ¸®ÖÖ → ×®Ö´®Ö ÃŸÖ¸ßµÖ ¯ÖÏ×ÛÎ µÖÖ†Öë Û Ö 
“ÖµÖ®Ö → ˆ¯ÖµÖãŒŸÖ ÃÖÖ´Ö×¸Û ß Û Ö “ÖµÖ®Ö → ´ÖÖ®Ö×ÃÖÛ  ¯ÖÏ×ŸÖ×®Ö×¬ÖŸ¾Ö Û Ö “ÖµÖ®Ö → ´ÖÖ®Ö×ÃÖÛ  ÃÖÓÃÖÖ¬Ö®ÖÖë Û Ö 
†Ö²ÖÓ™®Ö → ×®ÖÝÖ¸Ö®Öß → ´Öæ»µÖÖÓÛ ®Ö. 

 (3) ÃÖ´ÖÃµÖÖ ŸÖÖ¤ÖŸ´ÖßÛ ¸ÞÖ → ˆ¯ÖµÖãŒŸÖ ÃÖÖ´Ö×¸Û ß Û Ö “ÖµÖ®Ö → ¯ÖÏ¤¢ÖÖë, »ÖõµÖÖë ‹¾ÖÓ †¾Ö¸Öê¬ÖÖë Û Öê ¯Ö×¸³ÖÖ×ÂÖŸÖ Û ¸®ÖÖ 
→ ´ÖÖ®Ö×ÃÖÛ  ÃÖÓÃÖÖ¬Ö®ÖÖë Û Ö †Ö²ÖÓ™®Ö → ×®ÖÝÖ¸Ö®Öß → ´ÖÖ®Ö×ÃÖÛ  ¯ÖÏ×ŸÖ×®Ö×¬ÖŸ¾Ö Û Ö “ÖµÖ®Ö → ´Öæ»µÖÖÓÛ ®Ö  

 (4) ¯ÖÏ¤¢ÖÖë, »ÖõµÖÖë ‹¾ÖÓ †¾Ö¸Öê¬ÖÖë Û Öê ¯Ö×¸³ÖÖ×ÂÖŸÖ Û ¸®ÖÖ → ÃÖ´ÖÃµÖÖ ŸÖÖ¤ÖŸ´ÖßÛ ¸ÞÖ → ×®Ö´®Ö ÃŸÖ¸ßµÖ ¯ÖÏ×ÛÎ µÖÖ†Öë Û Ö 
“ÖµÖ®Ö → ˆ¯ÖµÖãŒŸÖ ÃÖÖ´Ö×¸Û ß Û Ö “ÖµÖ®Ö → ´ÖÖ®Ö×ÃÖÛ  ¯ÖÏ×ŸÖ×®Ö×¬ÖŸ¾Ö Û Ö “ÖµÖ®Ö → ´ÖÖ®Ö×ÃÖÛ  ÃÖÓÃÖÖ¬Ö®ÖÖë Û Ö 
†Ö²ÖÓ™®Ö → ×®ÖÝÖ¸Ö®Öß → ´Öæ»µÖÖÓÛ ®Ö 

 
53. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I 
(×¾ÖªÖ£Öá †®Öã¿ÖÖÃÖ®Ö Û ß ¯Ö¨×ŸÖ) 

ÃÖæ“Öß – II 
(×¾Ö¾Ö¸ÞÖ) 

a. ¬Ö®ÖÖŸ´ÖÛ  ¯Öã®Ö²ÖÔ»Ö®Ö i. ‡ÃÖÛê  ¯Ö¿“ÖÖŸÖË ¯ÖÏ×ŸÖÛæ »Ö ˆ§ß¯Ö®Ö ¯ÖÏÃŸÖãŸÖ Û ¸Ûê  ¾µÖ¾ÖÆÖ¸ ´Öë 
Û ´Öß »ÖÖ®ÖÖ …   

b. ®ÖÛ Ö¸ÖŸ´ÖÛ  ¯Öã®Ö²ÖÔ»Ö®Ö  ii. ¾µÖ¾ÖÆÖ¸ ‘Ö×™ŸÖ ÆÖê®Öê Ûê  ¯Ö¿“ÖÖŸÖË ¯ÖÏ×ŸÖÛæ »Ö ˆ§ß¯Ö®Ö Û Öê ¤æ¸ 
Û ¸Ûê  ¾µÖ¾ÖÆÖ¸ ´Öë ÃÖã¥œÌŸÖÖ »ÖÖ®ÖÖ …   

c. ¯ÖÏÃŸÖãŸÖßÛ ¸ÞÖ ¤Þ›  iii. ¾µÖ¾ÖÆÖ¸ ‘Ö×™ŸÖ ÆÖê®Öê Ûê  ¯Ö¿“ÖÖŸÖË ÃÖãÜÖ¤ÖµÖß ˆ§ß¯Ö®Ö Û Öê ¤æ¸ 
Û ¸Ûê  ¾µÖ¾ÖÆÖ¸ ´Öë Û ´Öß »ÖÖ®ÖÖ …   

d. ×®ÖÂÛ ÖÃÖ®Ö ¤Þ›  iv. ¾µÖ¾ÖÆÖ¸ ‘Ö×™ŸÖ ÆÖê®Öê Ûê  ¯Ö¿“ÖÖŸÖË ¾ÖÖÓ×”ŸÖ ˆ§ß¯Ö®Ö ¯ÖÏÃŸÖãŸÖ 
Û ¸Ûê  ¾µÖ¾ÖÆÖ¸ Û Ö ÃÖã¥œÌßÛ ¸ÞÖ  

  Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) ii iv i iii 
 (3) iv ii i iii 
 (4) iii i ii iv 
 
54. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî̧  ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ ÃÖÆß 

ˆ¢Ö¸ ¤ß×�Ö‹ : 
 †×³ÖÛ £Ö®Ö (A) :  ²Ö““ÖÖ �Ö²Ö ×¾ÖªÖ»ÖµÖ �ÖÖŸÖÖ Æî ŸÖÖê ¯ÖÖ®Öß Û ß ²ÖÖêŸÖ»Ö Æ´Öê¿ÖÖ †¯Ö®Öê ÃÖÖ£Ö »Öê �ÖÖŸÖÖ Æî …  
 ŸÖÛÔ  (R) : ²Ö““ÖÖ †¯Ö®Öß ¯ÖÏÖ£Ö×´ÖÛ  †Ö¾Ö¿µÖÛ ŸÖÖ Û Öê ÃÖÓŸÖãÂ™ Û ¸®ÖÖ “ÖÖÆŸÖÖ Æî …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
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55. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using codes given below : 

 Assertion (A) : According to Rogers, ideal condition for the development of a healthy 
self concept and movement toward becoming fully functioning is 
unconditional positive regard. 

 Reason (R) : With unconditional positive regard there is incongruence between true 
self and experience. 

 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 

56. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using codes given below : 

 Assertion (A) : Managers differ across cultures in their interpersonal styles and skills. 
 Reason (R) : Personal values held by a manager shape his perception of a situation. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 
57. Which among the following neurotransmitters are found throughout central nervous system ? 
 (a) Acetylcholine 
 (b) Norepinephrine 
 (c) Dopamine 
 (d) Serotonin 
 (e) GABA 
 Codes : 
 (1) (a) and (c) and (d) (2) (c) and (d) and (e) 
 (3) (b) and (c) and (d) (4) (a) and (d) and (e)  
 
58. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 

your answer using codes given below : 
 Assertion (A) : As per Guilford’s SOI model, intelligence can be taken as superset of 

creativity. 
 Reason (R) : Creativity involves divergent production that is just one of five 

operations of intellect. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
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55. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî̧  ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ ÃÖÆß 
ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) :  ¸Öê�ÖÃÖÔ Ûê  †®ÖãÃÖÖ¸ ¯ÖæÞÖÔŸÖÖ Û ÖµÖÔ¿Öß»Ö ÆÖê®Öê Û ß ×¤¿ÖÖ ´Öë Ã¾ÖÖÃ£µÖÛ ¸ †ÖŸ´Ö †¾Ö¬ÖÖ¸ÞÖÖ ŸÖ£ÖÖ ÃÖÓ“Ö»Ö®Ö 
Ûê  ×¾ÖÛ ÖÃÖ Ûê  ×»Ö‹ †Ö¤¿ÖÔ ×Ã£Ö×ŸÖ †¯ÖÏ×ŸÖ²ÖÓ×¬ÖŸÖ ÃÖÛ Ö¸ÖŸ´ÖÛ  ÃÖ´´ÖÖ®Ö Æî …  

 ŸÖÛÔ  (R) : †¿ÖŸÖÔ ÃÖÛ Ö¸ÖŸ´ÖÛ  ÃÖ´´ÖÖ®Ö Ûê  ÃÖÖ£Ö ¾ÖÖÃŸÖ×¾ÖÛ  †ÖŸ´Ö †Öî¸ †®Öã³Ö¾Ö Ûê  ²Öß“Ö ×¾ÖÂÖ´ÖŸÖÖ ÆÖêŸÖß Æî …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

56. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî̧  ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ ÃÖÆß 
ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) : ¯ÖÏ²ÖÓ¬ÖÛ  ×³Ö®®Ö-×³Ö®®Ö ÃÖÓÃÛé ×ŸÖµÖÖë ´Öë †¯Ö®Öß †®ŸÖ¸-¾ÖîµÖ×ŒŸÖÛ  ¿Öî»Öß †Öî¸ Û Öî¿Ö»Ö ´Öë ×³Ö®®ÖŸÖÖ ¸ÜÖŸÖê           
Æï  …  

 ŸÖÛÔ  (R) : ¯ÖÏ²ÖÓ¬ÖÛ  «Ö¸Ö ¬ÖÖ×¸ŸÖ ¾ÖîµÖ×ŒŸÖÛ  ´Öæ»µÖ ×Û ÃÖß ×Ã£Ö×ŸÖ Ûê  ¯ÖÏ×ŸÖ ˆÃÖÛê  ²ÖÖê¬Ö Û Öê †ÖÛ Ö¸ ¯ÖÏ¤Ö®Ö Û ¸ŸÖê Æï …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

57. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖê ®µÖæ¸Öê™ÒÖÓÃÖ´Öß™¸ ¯Öæ¸ß Ûê ®¦ßµÖ ŸÖÓ×¡ÖÛ Ö ŸÖÓ¡Ö ´Öë ¯ÖÖ‹ �ÖÖŸÖê Æï ? 
 (a) ‹êÃÖß×™»ÖÛ Öê×»Ö®Ö 
 (b) ®ÖÖò¸-‹ê×¯Ö®Öê±Ï ß®Ö 
 (c) ›Öê¯Öê×´Ö®Ö 
 (d) ×ÃÖ¸Öê™Öê×®Ö®Ö 
 (e) �Öß.‹.²Öß.‹. 
 Ûæ ™ : 
 (1)  (a), (c) †Öî̧  (d) (2) (c), (d) †Öî̧  (e) 
 (3) (b), (c) †Öî̧  (d) (4) (a), (d) †Öî̧  (e)  
 
58. ®Öß“Öê ¤Öê Û £Ö®Ö ×¤µÖê ÝÖµÖê Æï ×�Ö®Ö´Öë ÃÖê ‹Û  †×³ÖÛ £Ö®Ö (A) †Öî¸ ¤æÃÖ¸Ö ŸÖÛÔ  (R) Æî … ‡ÃÖê ¯Ö×œÌ‹ ‹¾ÖÓ ®Öß“Öê ×¤µÖê ÝÖµÖê Ûæ ™ 

Û ß ÃÖÆÖµÖŸÖÖ ÃÖê ˆ¢Ö¸ ¤ß×�Ö‹  : 
 †×³ÖÛ £Ö®Ö (A) :  ×ÝÖ»Ö± ›Ô Ûê  ‹ÃÖ.†Öê.†Ö‡Ô. ´ÖÖò›»Ö Ûê  †®ÖãÃÖÖ¸, ²Öã×¨ Û Öê ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ Û Ö †×¬ÖÃÖ´Öã““ÖµÖ ´ÖÖ®ÖÖ �ÖÖ 

ÃÖÛ ŸÖÖ Æî …  
 ŸÖÛÔ  (R) : ÃÖ�ÖÔ®ÖÖŸ´ÖÛ ŸÖÖ ´Öë ×¾Ö×¾Ö¬Ö ˆŸ¯ÖÖ¤ ×®Ö×ÆŸÖ ÆÖêŸÖê Æï �ÖÖê ×Û  ²Öã×¨ Ûê  ¯ÖÖÑ“Ö Û ÖµÖÖí ´Öë ÃÖê ‹Û  Æî …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, ¯Ö¸ÓŸÖã (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, ¯Ö¸ÓŸÖã (R) ÃÖÆß Æî … 

www.examrace.com



Paper-III 26  J-04-16 

59. In which one of the following scaling methods, Law of Comparative Judgement is used 
clearly while computing scale values ? 

 (1) Summated ratings (2) Equal appearing intervals 
 (3) JND scales (4) Paired Comparison 
 
60. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 

your answer using codes given below : 
 Assertion (A) : Japanese subjects detect background changes while U.S. subjects 

detect focal object changes. 
 Reason (R) : Eastern cultures encourage a holistic view, Western cultures de-

emphasize context. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 
61. The model of memory most frequently cited consists of Short Term Memory (STM) which 

serve(s) as gateway to Long Term Memory (LTM). This model was propounded by  
 (1) Ebbinghaus (2) Craik and Lockhart 
 (3) Tulving (4) Atkinson and Shiffring 
 
62. Which of the following disorders generally show a childhood onset ? 
 (a) Delusional disorder 
 (b) Asperger’s syndrome 
 (c) Attention-deficit hyperactivity disorder 
 (d) Mild Cognitive Impairment 
 Codes : 
 (1) (c) and (d) only (2) (b) and (c) only 
 (3) (a), (b) and (c) only (4) (b), (c) and (d) only 
 
63. The phenomenon of clinging to one’s initial conceptions after the basis on which they 

were formed and had been discredited refers to : 
 (1) Belief bias (2) Belief perseverance 
 (3) Over confidence (4) Framing decisions 
 
64. Long Term Potentiality involves 
 (1) release of nitric oxide 
 (2) increase in cell bodies 
 (3) increased number of NMDA (N-methyl-d-aspartic acid) receptors 
 (4) increased sensitivity of NMDA (N-methyl-d-aspartic acid) receptors 
 
65. Mechanistic and Cognitive approaches to motivation differ in the extent to which  

are invoked to account for the initiation, direction, intensity and persistence of goal 
directed behaviour. 

 (1) Dynamic traits (2) Higher mental processes 
 (3) Drives (4) Instincts 
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59. ´ÖÖ¯Ö ´Öæ»µÖ Û ß ÃÖÓÝÖÞÖ®ÖÖ Û ¸ŸÖê ÃÖ´ÖµÖ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´ÖÖ¯Ö®Ö ¯Ö¨×ŸÖµÖÖë ´Öë ÃÖê ×Û ÃÖ´Öë ŸÖã»Ö®ÖÖŸ´ÖÛ  ×®ÖÞÖÔµÖ ×¾Ö×¬Ö Û Ö ˆ¯ÖµÖÖêÝÖ 
Ã¯ÖÂ™ º ¯Ö ÃÖê ÆÖêŸÖÖ Æî ? 

 (1) ÃÖÓÛ ×»ÖŸÖ ¸êØ™ÝÖ  (2) ÃÖ´ÖÖ®Ö ¯ÖÏŸÖßŸÖ ÆÖê®Öê ¾ÖÖ»Öê †ÓŸÖ¸Ö»Ö  
 (3) �Öê.‹®Ö.›ß. ´ÖÖ¯Ö  (4) µÖã×Ý´ÖŸÖ ŸÖã»Ö®ÖÖ  
 

60. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî̧  ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ ÃÖÆß 
ˆ¢Ö¸ ¤ß×�Ö‹ : 

 †×³ÖÛ £Ö®Ö (A) :  �ÖÖ¯ÖÖ®Öß ×¾ÖÂÖµÖß ¯ÖéÂš³Öæ×´Ö ¯Ö×¸¾ÖŸÖÔ®Ö Û Ö ¯ÖŸÖÖ »ÖÝÖÖŸÖê Æï �Ö²Ö×Û  †´Öê×¸Û ®Ö ×¾ÖÂÖµÖß ÃÖÓÛê ×®¦ŸÖ ¾ÖÃŸÖã ´Öë 
¯Ö×¸¾ÖŸÖÔ®Ö Û Ö ¯ÖŸÖÖ »ÖÝÖÖŸÖê Æï …  

 ŸÖÛÔ  (R) : ¯Öæ¾Öá ÃÖÓÃÛé ×ŸÖ ÃÖ´ÖÝÖÏ ¥×Â™Û ÖêÞÖ Û Öê ²ÖœÌÖ¾ÖÖ ¤êŸÖß Æî, ¯Ö×¿“Ö´Öß ÃÖÓÃÛé ×ŸÖ ‡ÃÖ ÃÖÓ¤³ÖÔ Û ß ×¾Ö¯Ö¸ßŸÖ ×¤¿ÖÖ ´Öë Û ÖµÖÔ 
Û ¸ŸÖß Æî …  

 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 

61. Ã´Öé×ŸÖ Û Ö ¾ÖÆ ´ÖÖò›»Ö ×�ÖÃÖÛ Ö ÃÖ²ÖÃÖê †×¬ÖÛ  ˆ»»ÖêÜÖ ×Û µÖÖ �ÖÖŸÖÖ Æî, ´Öë †»¯ÖÛ Ö×»ÖÛ  Ã´Öé×ŸÖ ¿ÖÖ×´Ö»Ö Æî, �ÖÖê 
¤ß‘ÖÔÛ Ö×»ÖÛ  Ã´Öé×ŸÖ Ûê  ¯ÖÏ¾Öê¿Ö«Ö¸ Ûê  º ¯Ö ´Öë Û ÖµÖÔ Û ¸ŸÖÖ Æî … ‡ÃÖ ´ÖÖò›»Ö Û Ö ¯ÖÏ×ŸÖ¯ÖÖ¤®Ö ×Û µÖÖ ÝÖµÖÖ £ÖÖ  

 (1) ‹Ø²ÖÝÖÆÖÃÖ  (2) ÛÎî Û  ‹Þ› »ÖÖòÛ ÆÖ™Ô 
 (3) ™Ø»¾ÖÝÖ  (4) ‹™×Û ®ÃÖ®Ö †Öî¸ ×¿Ö± Ø¸ÝÖ  
 

62. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ×¾ÖÛ Ö¸ ÃÖÖ´ÖÖ®µÖŸÖµÖÖ ²Ö“Ö¯Ö®Ö Û ß ¿Öãº †ÖŸÖ ¤¿ÖÖÔŸÖÖ Æî ?  
 (a) ³ÖÏ´Ö ×¾ÖÛ Ö¸  (b) ‹êÃ¯Öê�ÖÔ¸ Û Ö ¸ÖêÝÖ »ÖõÖÞÖ  
 (c) ¬µÖÖ®Ö-†×ŸÖÃÖ×ÛÎ µÖŸÖÖ Û ß Û ´Öß Û Ö ×¾ÖÛ Ö¸  (d) Æ»ÖÛ ß ÃÖÓ–ÖÖ®ÖÖŸ´ÖÛ  ¤ã²ÖÔ»ÖŸÖÖ  
 Ûæ ™ : 
 (1) Ûê ¾Ö»Ö (c) †Öî̧  (d) (2) Ûê ¾Ö»Ö (b) †Öî̧  (c)  
 (3) Ûê ¾Ö»Ö (a), (b) †Öî̧  (c) (4) Ûê ¾Ö»Ö (b), (c) †Öî̧  (d)  
 

63. ×Û ÃÖß ¾µÖ×ŒŸÖ Û ß ˆ®Ö ¯ÖÏÖ¸Ó×³ÖÛ  †¾Ö¬ÖÖ¸ÞÖÖ†Öë ÃÖê ×“Ö¯ÖÛê  ¸Æ®Öê ÃÖÓ²ÖÓ¬Öß ŸÖ£µÖ ×�Ö®ÖÛê  †Ö¬ÖÖ¸ ¯Ö¸ ¾Öê ²Ö®Öß £Öß †Öî¸ ²ÖÖ¤ ´Öë 
ˆ®Æë ®ÖÆà ´ÖÖ®ÖÖ ÝÖµÖÖ £ÖÖ, Û Ö †Ö¿ÖµÖ Æî  

 (1) ×¾Ö¿¾ÖÖÃÖ †×³Ö®Ö×ŸÖ  (2) ×¾Ö¿¾ÖÖÃÖ ¥œÌŸÖÖ  
 (3) †×ŸÖ×¾Ö¿¾ÖÖÃÖ  (4) ²ÖÓ¬Ö ×®ÖÞÖÔµÖ  
 

64. ¤ß‘ÖÔÛ Ö×»ÖÛ  ÃÖ´Ö£ÖÔŸÖÖ ´Öë ¿ÖÖ×´Ö»Ö Æî  
 (1) ®ÖÖ‡×™ÒÛ  †ÖòŒÃÖÖ‡› Û ß ×®Ö´ÖãÔ×ŒŸÖ 
 (2) Û Öê×¿ÖÛ Ö†Öë ´Öë ¾Öé×¨  
 (3) NMDA (‹®Ö-×´Ö£ÖÖ‡»Ö-›ß.†Ã¯ÖÖÙ™Û  ‹×ÃÖ›) ×¸ÃÖê¯™¸Öë Û ß ÃÖÓÜµÖÖ ´Öë ¾Öé×¨  
 (4) NMDA (‹®Ö-×´Ö£ÖÖ‡»Ö-›ß.†Ã¯ÖÖÙ™Û  ‹×ÃÖ›) ×¸ÃÖê¯™¸Öë Û ß ÃÖÓ¾Öê¤®Ö¿Öß»ÖŸÖÖ ´Öë ¾Öé×¨  
 

65. †×³Ö¯ÖÏê¸ÞÖ Û Ö ×ÛÎ µÖÖ×¾Ö×¬ÖÛ  †Öî¸ ÃÖÓ–ÖÖ®ÖÖŸ´ÖÛ  ˆ¯ÖÖÝÖ´Ö ˆÃÖ ÃÖß´ÖÖ ŸÖÛ  ×³Ö®®Ö Æî ×�ÖÃÖ ÃÖß´ÖÖ ŸÖÛ  ______ Û Öê »ÖõµÖ 
×®Ö¤ì×¿ÖŸÖ ¾µÖ¾ÖÆÖ¸ Û Öê ¯ÖÏÖ Ó̧³Ö Û ¸®Öê, ×®Ö¤ì×¿ÖŸÖ Û ¸®Öê, ˆÃÖÛ ß ¯ÖÏ²Ö»ÖŸÖÖ ²ÖœÌÖ®Öê †Öî̧  ¯ÖÏÃŸÖã×ŸÖ Ûê  ×»Ö‹ »ÖÖÝÖæ ×Û µÖÖ �ÖÖŸÖÖ Æî  …  

 (1) ÝÖ×ŸÖÛ  ¿Öß»ÖÝÖãÞÖ  (2) ˆ““ÖŸÖ¸ ´ÖÖ®Ö×ÃÖÛ  ¯ÖÏÛÎ ´Ö 
 (3) †ÓŸÖ®ÖÖì¤ (4) ´Öæ»Ö ¯ÖÏ¾Öé×¢ÖµÖÖÑ 
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66. Which of the following are the correct explanations of discrimination and stimulus 
generalizations ? 

 (a) Learning to respond to one stimulus but not to the other similar stimuli. 
 (b) Learning to respond to one stimulus but not to the other different stimuli. 
 (c) Stimuli similar to the one used during conditioning also elicit the conditioned 

response. 
 (d) Stimuli different to the one used during conditioning also elicit the conditioned 

response. 
 Codes : 
 (1) (a) and (c) (2) (a) and (d) 
 (3) (b) and (c) (4) (b) and (d) 
 

67. Training and development offer competitive advantage to a firm by 
 (a) removing performance deficiency 
 (b) minimizing accidents and damage 
 (c) making employees stay long 
 (d) meeting employees personal needs 
 Codes :  
 (1) (a), (c), (d) (2) (b), (c), (d) 
 (3) (a), (b), (d) (4) (a), (b), (c) 
 

68. Which of the following is the term for describing a child’s one word utterances ? 
 (1) Over extensions (2) Under extensions 
 (3) Holophrases (4) Telegraphic speech 
 

69. Read each of the following two statements – Assertion (A) and Reason (R) and indicate 
your answer using codes given below : 

 Assertion (A) : People have tendency to recall experiences that are consistent with 
their current moods. 

 Reason (R) : Moods and memories are congruent. 
 Codes : 
 (1) Both (A) and (R) are true and (R) is the correct explanation of (A). 
 (2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). 
 (3) (A) is true, but (R) is false. 
 (4) (A) is false, but (R) is true. 
 

70. Match List – I with List – II and select the correct answer by choosing from the codes 
given below : 

List – I 
(Approach to perception) 

       List – II 
       (Description) 

a. Computational i. fragments of sensory information form reality 
b. Constructivist ii. direct reception of information from environment  
c. Ecological iii. separate recognition of visual features 
d. Feature analysis iv. manipulate incoming signals to understand world 

 Codes : 
  a b c d   
 (1) i ii iii iv 
 (2) iv i ii iii 
 (3) iii iv i ii 
 (4) ii iii iv i 
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66. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ×¾Ö³Öê¤®Ö †Öî¸ ˆ§ß¯Ö®Ö ¯ÖÏÃÖÖ´ÖÖ®µÖßÛ ¸ÞÖ Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî ? 
 (a) ‹Û  ˆ§ß¯Ö®Ö Û ß †®Öã×ÛÎ µÖÖ Ûê  ×»Ö‹ †×¬ÖÝÖ´Ö ¯Ö¸ÓŸÖã †®µÖ ÃÖ´ÖÖ®Ö ˆ§ß¯Ö®Ö Ûê  ×»Ö‹ ®ÖÆà  
 (b) ‹Û  ˆ§ß¯Ö®Ö Ûê  †®Öã×ÛÎ µÖÖ Ûê  ×»Ö‹ †×¬ÖÝÖ´Ö ¯Ö¸ÓŸÖã †®µÖ ×³Ö®®Ö ˆ§ß¯Ö®Ö Ûê  ×»Ö‹ ®ÖÆà  
 (c) †®ÖãÛæ »Ö®Ö Ûê  ¤Öî¸Ö®Ö †Öî¸ †®ÖãÛæ ×»ÖŸÖ †®Öã×ÛÎ µÖÖ ¯ÖÏÖ¯ŸÖ Û ¸®Öê Ûê  ×»Ö‹ ¯ÖÏµÖãŒŸÖ ˆ§ß¯Ö®Ö ÃÖ´ÖÖ®ÖŸÖÖ  
 (d) †®ÖãÛæ »Ö®Ö Ûê  ¤Öî¸Ö®Ö †Öî¸ †®ÖãÛæ ×»ÖŸÖ †®Öã×ÛÎ µÖÖ ¯ÖÏÖ¯ŸÖ Û ¸®Öê Ûê  ×»Ö‹ ¯ÖÏµÖãŒŸÖ ˆ§ß¯Ö®Ö ×³Ö®®ÖŸÖÖ 
 (1) (a) †Öî̧  (c) (2) (a) †Öî̧  (d) 
 (3) (b) †Öî̧  (c) (4) (b) †Öî̧  (d) 
 
67. ×Û ÃÖß ± ´ÖÔ Û Öê ×Û ÃÖÛê  «Ö¸Ö ¯ÖÏ×¿ÖõÖÞÖ †Öî¸ ×¾ÖÛ ÖÃÖ ÃÖê ¯ÖÏ×ŸÖÃ¯Ö¬Öá »ÖÖ³Ö ×´Ö»ÖŸÖÖ Æî ? 
 (a) ×®ÖÂ¯ÖÖ¤®Ö ´Öë Û ´Öß Û Öê ¤æ¸ Û ¸Ûê  … 
 (b) ¤ã‘ÖÔ™®ÖÖ†Öë †Öî¸ õÖ×ŸÖµÖÖë Û Öê Û ´Ö Û ¸Ûê  … 
 (c) Û ´ÖÔ“ÖÖ×¸µÖÖë Ûê  »ÖÓ²Öê ÃÖ´ÖµÖ ŸÖÛ  ²Ö®Öê ¸Æ®Öê ÃÖê … 
 (d) Û ´ÖÔ“ÖÖ×¸µÖÖë Û ß ¾µÖ×ŒŸÖÝÖŸÖ �Öº ¸ŸÖÖë Û Öê ¯Öæ¸Ö Û ¸Ûê  … 
 Ûæ ™ :  
 (1) (a), (c), (d) (2) (b), (c), (d) 
 (3) (a), (b), (d) (4) (a), (b), (c) 
 
68. ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖê ¿Ö²¤ Û Öê ²Ö““Öê Ûê  ‹Û  ¿Ö²¤ Û Öê †×³Ö¾µÖŒŸÖ Û ¸®Öê Ûê  ×»Ö‹ ˆ¯ÖµÖÖêÝÖ ×Û µÖÖ �ÖÖŸÖÖ Æî ? 
 (1) †×ŸÖ ¯ÖÏÃÖÖ¸ÞÖ (2) †¾Ö-¯ÖÏÃÖÖ¸ÞÖ 
 (3) ÆÖê»ÖÖê±Ïê �Ö (4) ™î»ÖßÝÖÏÖ×± Û  ¾ÖÖÛË  
 
69. ×®Ö´®Ö×»Ö×ÜÖŸÖ ¤Öê Û £Ö®ÖÖë-†×³ÖÛ £Ö®Ö (A) †Öî̧  ŸÖÛÔ  (R) Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸ŸÖê Æã‹ ÃÖÆß  

ˆ¢Ö¸ ¤ß×�Ö‹ : 
 †×³ÖÛ £Ö®Ö (A) :  »ÖÖêÝÖ ˆ®Ö †®Öã³Ö¾ÖÖë Û Öê µÖÖ¤ Û ¸®ÖÖ “ÖÖÆŸÖê Æï �ÖÖê ˆ®ÖÛê  ¾ÖŸÖÔ´ÖÖ®Ö ´Ö®ÖÖê³ÖÖ¾ÖÖë Ûê  †®ÖãÛæ »Ö ÆÖêŸÖê Æï …  
 ŸÖÛÔ  (R) : ´Ö®ÖÖê³ÖÖ¾Ö †Öî¸ Ã´Öé×ŸÖµÖÖÑ ÃÖ´Ö®Öãº ¯Ö ÆÖêŸÖß Æï …  
 Ûæ ™ : 
 (1) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï †Öî¸ (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ Æî … 
 (2) (A) †Öî̧  (R) ¤Öê®ÖÖë ÃÖÆß Æï, ¯Ö¸®ŸÖã (R), (A) Û ß ÃÖÆß ¾µÖÖÜµÖÖ ®ÖÆà Æî … 
 (3) (A) ÃÖÆß Æî, »Öê×Û ®Ö (R) ÝÖ»ÖŸÖ Æî … 
 (4) (A) ÝÖ»ÖŸÖ Æî, »Öê×Û ®Ö (R) ÃÖÆß Æî … 
 
70. ÃÖæ“Öß – I †Öî¸ ÃÖæ“Öß – II Û Öê ÃÖã´Öê×»ÖŸÖ Û ß×�Ö‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ Ûæ ™Öë ´Öë ÃÖê ÃÖÆß ˆ¢Ö¸ “Öã×®Ö‹ : 

ÃÖæ“Öß – I 
(¯ÖÏŸµÖõÖÞÖ ˆ¯ÖÖÝÖ´Ö) 

ÃÖæ“Öß – II 
(¾ÖÞÖÔ®Ö) 

a. ÃÖÓÝÖÞÖ®ÖÖŸ´ÖÛ  i. ¾ÖÖÃŸÖ×¾ÖÛ ŸÖÖ ÃÖê ÃÖÓ¾Öê¤ß ÃÖæ“Ö®ÖÖ Û Ö ×¾ÖÜÖÓ›®Ö  
b. ¸“Ö®ÖÖŸ´ÖÛ  ii. ¯ÖµÖÖÔ¾Ö¸ÞÖ ÃÖê ÃÖæ“Ö®ÖÖ Û Ö ¯ÖÏŸµÖõÖ ÝÖÏÆÞÖ   
c. ¯ÖµÖÖÔ¾Ö¸ÞÖßµÖ  iii. “ÖÖõÖãÂÖ ×¾Ö¿ÖêÂÖŸÖÖ Û ß ¯Öé£ÖÛ  ¯ÖÆ“ÖÖ®Ö   
d. ×¾Ö¿ÖêÂÖŸÖÖ ×¾Ö¿»ÖêÂÖÞÖ  iv. ×¾Ö¿¾Ö Û Öê ÃÖ´Ö—Ö®Öê Ûê  ×»Ö‹ †Ö®Öê ¾ÖÖ»Öê ÃÖÓÛê ŸÖÖë ´Öë ±ê ¸-²Ö¤»Ö Û ¸ŸÖÖ Æî …   

  Ûæ ™ : 
  a b c d   
 (1) i ii iii iv 
 (2) iv i ii iii 
 (3) iii iv i ii 
 (4) ii iii iv i 
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Instructions for questions 71 to 75 : 
 
Read the following paragraph and answer the five questions which follow : 
 

 An industrial psychologist wanted to study the job efficiency of the company executives 
in relation to M.B.A. marks, selection test scores, evaluations scores at the end of inhouse 
training. Job efficiency correlated with M.B.A. marks (r = 0.40), selection test scores (r = 0.50) 
and the evaluation scores at the end of inhouse training. (r = 0.60). All the three correlations 
were statistically significant. The multiple regression was computed using job efficiency as the 
criterion and the other three variables as the predictors. The three predictors explained 56.25 
percent of variance in the job efficiency. The industrial psychologist further thought that the 
communication skills assessment would enhance the predictability of job efficiency. As such, 
the communication skills of the respondents were also assessed, which correlated with job 
efficiency by 0.35, again a statistically significant value. However when communication skills 
were added as the fourth predictor in the multiple regression, the change in R2 (squared multiple 
correlation) was found to be insignificant. 
 

71. What percent of variance in job efficiency is explained by evaluation scores at the end of 
training ? 

 (1) 36 percent (2) 40 percent 
 (3) 60 percent (4) 64 percent 
 

72. What would be the multiple correlation between the job efficiency and the three predictors 
(M.B.A. marks, selection test scores, and the evaluations scores at the end of inhouse 
training) ? 

 (1) 0.50 (2) 0.65 
 (3) 0.75 (4) Inadequate data 
 

73. Which one of the following conclusion can be drawn on the basis of above study ? 
 (a) All the four predictors (M.B.A. marks, selection test scores, evaluation scores at the 

end of inhouse training, and the communication skills) are individually valid. 
 (b) Out of the above four predictors, all except communication skills, are individually 

valid. 
 (c) Communication skills assessment has satisfactory incremental validity. 
  (d) Communication skills assessment has unsatisfactory incremental validity. 
 (1) (b) only (2) (a) and (c) only 
 (3) (a) and (d) only (4) (b) and (d) only 
 
74. The b coefficient obtained in multiple regression is  
 (1) Partial correlation coefficient (2) Correlation coefficient 
 (3) Regression coefficient (4) Partial regression coefficient 
 
75. Which one of the following conclusion can be drawn on the basis of above paragraph ? 
 (1) All the four predictors (M.B.A. marks, selection test scores, evaluation scores at the 

end of inhouse training and communication skills) are uncorrelated with each other. 
 (2) Out of the four predictors, at least some are correlated with each other. 
 (3) Communication skills scores are uncorrelated with other predictors. 
 (4) The four predictors theoretically appear to be correlated, but we cannot infer about 

their intercorrelations from the data provided.  
____________ 
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¯ÖÏ¿®Ö ÃÖÓÜµÖÖ 71 ÃÖê 75 Ûê  ×»Ö‹ †®Öã¤ê¿Ö : 
×®Ö´®Ö×»Ö×ÜÖŸÖ ¯Öî¸ÖÝÖÏÖ±  Û Öê ¯Ö×œÌ‹ †Öî¸ ®Öß“Öê ×¤‹ ÝÖ‹ ¯ÖÖÑ“Ö ¯ÖÏ¿®ÖÖë Ûê  ˆ¢Ö¸ ¤ß×�Ö‹ : 
 

 ‹Û  †ÖîªÖê×ÝÖÛ  ´Ö®ÖÖê×¾Ö–ÖÖ®Öß ‹´Ö.²Öß.‹. Ûê  †ÓÛ Öë, “ÖµÖ®Ö ¯Ö¸ßõÖÖ Ûê  ¯ÖÏÖ¯ŸÖÖÓÛ Öë †Öî̧  †ÓŸÖ ´Öë ÛÓ ¯Ö®Öß Ûê  ³ÖßŸÖ¸ ×¤‹ ÝÖ‹ 
¯ÖÏ×¿ÖõÖÞÖ Ûê  ÃÖÓ²ÖÓ¬Ö ´Öë ÛÓ ¯Ö®Öß Ûê  Û ÖµÖÔÛ Ö×¸µÖÖë Û ß Û ÖµÖÔ¤õÖŸÖÖ Û Ö †¬µÖµÖ®Ö Û ¸®ÖÖ “ÖÖÆŸÖÖ £ÖÖ … ‹´Ö.²Öß.‹. Ûê  †ÓÛ Öë Ûê  ÃÖÖ£Ö Û ÖµÖÔ 
¤õÖŸÖÖ ÃÖÆÃÖÓ²ÖÓ¬Ö (r = 0.40), “ÖµÖ®Ö ¯Ö¸ßõÖÖ ¯ÖÏÖ¯ŸÖÖÓÛ Öë Ûê  ÃÖÖ£Ö Û ÖµÖÔ ¤õÖŸÖÖ ÃÖÆÃÖÓ²ÖÓ¬Ö (r = 0.50) ŸÖ£ÖÖ ÛÓ ¯Ö®Öß Ûê  ³ÖßŸÖ¸ ×¤‹ ÝÖ‹ 
¯ÖÏ×¿ÖõÖÞÖ Ûê  ÃÖÖ£Ö ´Öæ»µÖÖÓÛ ®Ö ÃÛ Öȩ̂  (r = 0.60) Æî … ÃÖ³Öß ŸÖß®ÖÖë ÃÖÆÃÖÓ²ÖÓ¬Ö ´ÖÆ¢¾Ö¯ÖæÞÖÔ º ¯Ö ÃÖê ÃÖÓŸÖÖêÂÖ�Ö®ÖÛ  £Öê … ´ÖÖ®Ö¤Ó› Ûê  º ¯Ö ´Öë 
Û ÖµÖÔ¤õÖŸÖÖ ŸÖ£ÖÖ ÃÖ´ÖÖÁÖµÖÞÖ Ûê  º ¯Ö ´Öë ŸÖß®ÖÖë ¯ÖÏÖÝÃÖæ“ÖÛ Öë Û Ö ˆ¯ÖµÖÖêÝÖ Û ¸Ûê  ²ÖÆã ¯Ö¸Ö¾ÖŸÖÔ®Ö Û ß ÃÖÓÝÖÞÖ®ÖÖ Û ß ÝÖ‡Ô … ŸÖß®ÖÖë ¯ÖÏÖÝÃÖæ“ÖÛ  ®Öê 
Û ÖµÖÔ ¤õÖŸÖÖ ´Öë 56.25 ¯ÖÏ×ŸÖ¿ÖŸÖ ¯ÖÏÃÖ¸ÞÖ ²ÖŸÖÖµÖÖ … †ÖîªÖê×ÝÖÛ  ´Ö®ÖÖê¾Öî–ÖÖ×®ÖÛ  ®Öê †ÖÝÖê ÃÖÖê“ÖÖ ×Û  ÃÖÓ̄ ÖÏêÂÖÞÖ Û Öî¿Ö»Ö ´Öæ»µÖÖÓÛ ®Ö ÃÖê Û ÖµÖÔ 
¤õÖŸÖÖ Û ß ¯Öæ¾ÖÖÔ®Öã´ÖêµÖŸÖÖ ²ÖœÌêÝÖß … ‡ÃÖ ¯ÖÏÛ Ö¸ ÃÖê ¯ÖÏ×ŸÖ×ÛÎ µÖÖ¤ÖŸÖÖ†Öë Ûê  ÃÖÓ̄ ÖÏêÂÖÞÖ Û Öî¿Ö»Ö Û Ö ³Öß ´Öæ»µÖÖÓÛ ®Ö ×Û µÖÖ ÝÖµÖÖ £ÖÖ �ÖÖê 0.35 ÃÖê 
Û ÖµÖÔ ¤õÖŸÖÖ ÃÖê ÃÖÆÃÖÓ²ÖÓ×¬ÖŸÖ £ÖÖ �ÖÖê ×Û  ¯Öã®Ö: ÃÖÓŸÖÖêÂÖ�Ö®ÖÛ  º ¯Ö ÃÖê ´ÖÆ¢¾Ö¯ÖæÞÖÔ ´Öæ»µÖ £ÖÖ … ÆÖ»ÖÖÓ×Û  �Ö²Ö “ÖÖî£Öê ¯ÖÏÖÝÃÖæ“ÖÛ  Ûê  º ¯Ö ´Öë ²ÖÆã 
ÃÖ´ÖÖÁÖµÖÞÖ ´Öë ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö Û Öê ³Öß ¿ÖÖ×´Ö»Ö ×Û µÖÖ ÝÖµÖÖ ŸÖÖê R2 (²ÖÆãÃÖÆÃÖÓ²ÖÓ¬Ö Û Ö ¾ÖÝÖÔ) ´Öë �ÖÖê ¯Ö×¸¾ÖŸÖÔ®Ö Æã†Ö ¾ÖÆ ²ÖÆãŸÖ ´ÖÆ¢¾Ö¯ÖæÞÖÔ 
®ÖÆà £ÖÖ …  
71. ¯ÖÏ×¿ÖõÖÞÖ Ûê  †ÓŸÖ ´Öë ´Öæ»µÖÖÓÛ ®Ö ÃÛ Öê¸ «Ö¸Ö Û ÖµÖÔ ¤õÖŸÖÖ ´Öë ×Û ŸÖ®Öê ¯ÖÏ×ŸÖ¿ÖŸÖ ¯ÖÏÃÖ¸ÞÖ ²ÖŸÖÖµÖÖ ÝÖµÖÖ ? 
 (1) 36 ¯ÖÏ×ŸÖ¿ÖŸÖ (2) 40 ¯ÖÏ×ŸÖ¿ÖŸÖ 
 (3) 60 ¯ÖÏ×ŸÖ¿ÖŸÖ (4) 64 ¯ÖÏ×ŸÖ¿ÖŸÖ 
 
72. Û ÖµÖÔ¤õÖŸÖÖ ŸÖ£ÖÖ ŸÖß®ÖÖë ¯ÖÏÖÝÃÖæ“ÖÛ Öë (‹´Ö.²Öß.‹. Ûê  ¯ÖÏÖ¯ŸÖÖÓÛ , “ÖµÖ®Ö ¯Ö¸ßõÖÖ Û Ö ÃÛ Öê¸ ŸÖ£ÖÖ ÛÓ ¯Ö®Öß ´Öë Æã‹ ¯ÖÏ×¿ÖõÖÞÖ Ûê  †ÓŸÖ 

´Öë ¯ÖÏÖ¯ŸÖ †ÓÛ ) Ûê  ²Öß“Ö ²ÖÆã-ÃÖÆÃÖÓ²ÖÓ¬Ö ×Û ŸÖ®ÖÖ ÆÖêÝÖÖ ? 
 (1) 0.50 (2) 0.65 
 (3) 0.75 (4) †¯ÖµÖÖÔ¯ŸÖ †ÖÑÛ ›Ìê 
 
73. ˆ¯Ö¸ÖêŒŸÖ †¬µÖµÖ®Ö Ûê  †Ö¬ÖÖ¸ ¯Ö¸ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê ŒµÖÖ ×®ÖÂÛ ÂÖÔ ×®ÖÛ Ö»ÖÖ �ÖÖ ÃÖÛ ŸÖÖ Æî ? 
 (a) ÃÖ³Öß “ÖÖ¸ ¯ÖÏÖÝÃÖæ“ÖÛ  (‹´Ö.²Öß.‹. Ûê  ¯ÖÏÖ¯ŸÖÖÓÛ , “ÖµÖ®Ö ¯Ö¸ßõÖÖ ÃÛ Öê¸, ÛÓ ¯Ö®Öß ´Öë Æã‹ ¯ÖÏ×¿ÖõÖÞÖ Ûê  †ÓŸÖ ´Öë ¯ÖÏÖ¯ŸÖ †ÓÛ  

†Öî¸ ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö) ‹Û »Ö ÃŸÖ¸ ¯Ö¸ ¾Öî¬Ö Æî …  
 (b) “ÖÖ¸Öë ˆ¯Ö¸ÖêŒŸÖ ¯ÖÏÖÝÃÖæ“ÖÛ Öë ´Öë ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö Ûê  †×ŸÖ×¸ŒŸÖ ÃÖ³Öß ‹Û »Ö ÃŸÖ¸ ¯Ö¸ ¾Öî¬Ö Æî …  
 (c) ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö ´Öæ»µÖÖÓÛ ®Ö Û ß ÃÖÓŸÖÖêÂÖ�Ö®ÖÛ  †×³Ö¾Öé×¨ŸÖ ¾Öî¬ÖŸÖÖ Æî …  
  (d) ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö ´Öæ»µÖÖÓÛ ®Ö Û ß †ÃÖÓŸÖÖêÂÖ�Ö®ÖÛ  †×³Ö¾Öé×¨ŸÖ ¾Öî¬ÖŸÖÖ Æî …  
 (1) Ûê ¾Ö»Ö (b) (2) Ûê ¾Ö»Ö (a) †Öî̧  (c)  
 (3) Ûê ¾Ö»Ö (a) †Öî̧  (d) (4) Ûê ¾Ö»Ö (b) †Öî̧  (d)  
 
74. ²ÖÆã ÃÖ´ÖÖÁÖµÖÞÖ ´Öë ¯ÖÏÖ¯ŸÖ b ÝÖãÞÖÖÓÛ  Æî  
 (1) µÖã×Ý´ÖŸÖ ÃÖÆÃÖÓ²ÖÓ¬Ö ÝÖãÞÖÖÓÛ   (2) ÃÖÆÃÖÓ²ÖÓ¬Ö ÝÖãÞÖÖÓÛ   
 (3) ÃÖ´ÖÖÁÖµÖÞÖ ÝÖãÞÖÖÓÛ   (4) †ÖÓ×¿ÖÛ  ÃÖ´ÖÖÁÖµÖÞÖ ÝÖãÞÖÖÓÛ   
 
75. ˆ¯Ö¸ÖêŒŸÖ ¯Öî¸ÖÝÖÏÖ±  Ûê  †Ö¬ÖÖ¸ ¯Ö¸ ×®Ö´®Ö×»Ö×ÜÖŸÖ ´Öë ÃÖê Û Öî®Ö ÃÖÖ ×®ÖÂÛ ÂÖÔ ×®ÖÛ Ö»ÖÖ �ÖÖ ÃÖÛ ŸÖÖ Æî ? 
 (1) ÃÖ³Öß “ÖÖ¸ ¯ÖÏÖÝÃÖæ“ÖÛ  (‹´Ö.²Öß.‹. ¯ÖÏÖ¯ŸÖÖÓÛ , “ÖµÖ®Ö ¯Ö¸ßõÖÖ ÃÛ Öê¸, ÛÓ ¯Ö®Öß ´Öë ×¤‹ ÝÖ‹ ¯ÖÏ×¿ÖõÖÞÖ Ûê  †ÓŸÖ ´Öë ¯ÖÏÖ¯ŸÖ 

´Öæ»µÖÖÓÛ ®Ö ÃÛ Öê¸ ŸÖ£ÖÖ ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö) ‹Û  ¤æÃÖ¸ê ÃÖê †ÃÖÆÃÖÓ²ÖÓ×¬ÖŸÖ Æï …  
 (2) “ÖÖ¸ ¯ÖÏÖÝÃÖæ“ÖÛ Öë ´Öë ÃÖê Û ´Ö ÃÖê Û ´Ö Ûã ” ‹Û  ¤æÃÖ¸ê ÃÖê ÃÖÓ²ÖÓ×¬ÖŸÖ Æï …  
 (3) ÃÖÓ¯ÖÏêÂÖÞÖ Û Öî¿Ö»Ö ¯ÖÏÖ¯ŸÖÖÓÛ  ¤æÃÖ¸ê ¯ÖÏÖÝÃÖæ“ÖÛ Öë ÃÖê †ÃÖÆÃÖÓ²ÖÓ×¬ÖŸÖ Æï …  
 (4) “ÖÖ¸ ¯ÖÏÖÝÃÖæ“ÖÛ  ÃÖî¨Ö×®ŸÖÛ  º ¯Ö ÃÖê ÃÖÆÃÖÓ²ÖÓ×¬ÖŸÖ Æî, ¯Ö¸ÓŸÖã Æ´Ö ´ÖãÆîµÖÖ Û ¸Ö‹ ÝÖ‹ †ÖÑÛ ›ÌÖë ÃÖê ˆ®ÖÛ ß †®ŸÖ¸ ÃÖÓ²ÖÓ¬ÖŸÖÖ 

Ûê  ²ÖÖ¸ê ´Öë Ûã ” ®ÖÆà Û Æ ÃÖÛ ŸÖê …  
____________ 
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Space For Rough Work

www.examrace.com


